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When the cement content and workability are kept constant, the greater proportion
of fine aggregate will be required if

(A) Maximum size of aggregate is larger
Maximum size of aggregate is small
(C) Allin aggregate is used
(D) Rounded coarse aggregate is used
AL 1qudlesr sjemeyld ﬁ%@mm Sjerey wrhlelwns QméEwounsg, s eSsrssmy Hamdrl(H
@uCGung Csemeuiu(Bb
A) drigern sflsu s Sierey Qulwg)
B) driyer aflsuls ety Ablwgy
©) drlge 2 emer Hs@mand LwaTUGSSLLGE DS
D) e mawerwrar Quilw erejew H’ B LvweaTUBHSSLLHE DS

Admixtures which cause early setting, and hardening of concrete are called as
(A)  Workability admixture (B) Super plasticizers
Accelerators (D) Retarders
Samsneny §&Hons QMEGsSQSEGL LHML 2 NFumLSNGGL LWATUHSSUIURDL GLHd
sly @eieurn essluBEng
A) < Eme U (Hé sl B) Wlens Arpdlpownss
(C) Casup®sd D) gpsd

The yield strength of structural TMT steel bar is about’

(A) 250 N/mm? (B) 315 N/mm?2
w415 N/mm? (D) 215 N/mm?

s (Hwrar TMT er..dlen Gen Hlevew pnme Camymunns

(A) 250 N/mm? (B) 315 N/mm?

(C) 415 N/mm?2 (D) 215 N/mm?

In the context of Town planning, the bye — law must be revised in every

(A) 5-10years v 10 - 15 years

(C) 15-20years (D) 20— 25 years

p&ID HLLll adar Gueld, iy eld gabeumm DEL Hmsd
SimwssUuL Geuam(Hib. '

A)  5-— 10 syam@ser B) 10 - 15 oyan@ser

(C) 15— 20 sy@m@ser D) 20 — 25 y@m@aseT
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Brick containing large proportion of soluble salts liable to become patches of white
deposit are called as

(A) Bloating : (Efﬂorescences

(C) Under burning : (D) Laminates

28 Sarey sTwEsmGW 2 Umus QerarL Gemsadar Gue Geudtaner Hlng S Haser
2 T meug) @eucunm SiwssLiLBhEng)

4) =uyse (B) gner ygsse

©C) ©onCauss( D) sslL®éE

Match List I with List IT and select correct answer :
List I List II
(a) Finenessof cement- 1. Le chatlier apparatus
() Setting time 2
(¢) Workability 3. Air permeability apparatus
4

(d) Soundness

Vicat's apparatus

Slump cone

@ B e @

A 1 2 3 4
B) 3 1 1 2
\( 3 2 4 1

(D) 1. 4 3 2

ulgwe I g ulgwe IT o Ler Qurmss eflwrer ellen_ewsd CoTHAsHESa :
uligwe I uligwed I1

(@) Abllguler pamgarew 1. &S el edwm auasn;reanb

(b) Gnewb Crrn 2.  &ssm 2 LSTeRTLD

() @EHaw 3. smhny ea@Hiseic 2 LIBFeRTD

(d) Eopuldaremw 4, &lpeys saib Camgemen
@@ () (©) (d)

A 1 2 3 4

®B) 3 1 4 2

) 3 2 4 1

D) 1 4 3 2
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Consider the following strength of concrete
i Cube strength

2 Cylinder strength

3. Split textile strength

4. Modulus of rupture

The correct sequence in increasing order of strength is

A) 3,412 3,421
© 43,21 ° D) 4,3,1,2

SpsaaL Slamareyuier eucliawaws smsse Qamers

1. SENEE)|] eUElanLD

2. 2 (HEnET euedlentn

3. &flge Heranio cuallanio

4. Qpmmmsd GeTsid

e SiHafsEw sflwurer Ly sar

@) 3,412 B 3,421
C) 4,321 D) 4,3,1,2

The effect of air entrainment in concrete is to

1. increase resistance to freezing and thawing
9, improve workability
3. decrease strength

Which of these statements is/are correct?
(A) 1 alone (B) 1and3
(C) 2and3 W 1, 2and3

Searenyuder sTHH 2L LGHS GmULder sréstD

1. 2.@nsed whmib &@@g,@;éa;nm adimiemu oifafssng
2. < @paweaw CuobuBssifng

3. cuallanoen s GenaSlns)

QA erhs saHm/ sadMISET MlLITETEHE? .

(A) 1wl@wb _ (B) 1 wHmwb3
(C) 2 wHmd3 - (D) 1,2 womod 3
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9, Match List I with List Il and select correct answer :
List I : List II

(a) Water to cement ratio 1. Durability

(b) Water content ‘ 2. Compressive strength
(¢ Minimum cement content 3. Stability of mix

(d) Seggregation 4. Workability

@ ® © @

@4 4 1 3 2
®B) 2 4 3 1
© 4 1 2 3
v 2 4 1 3
uigwe I g Ligwe I o Car Qurmsd sflwren allen e CaibtsHiEseayLd :
uCgwe I U tgwied IT -
(@) B wHmd Ml g HHsD 1. ﬁmwuuggéﬂmw
®) Srerey - 2. sigpsssHen
© GopHsLLs ALy siaTey 3.  soeauidar e ndurer getemw |
@ SQfoy ’ 4. @

@ 6 @ @

(A) 4 1 3 2
B 2 4 3 1
© 4 1 2 3
D) 2 4 1 3

10. The sound which contains even after source is cutoff is called
(A) _Echo | W& Reverberation
(C) Style _ (D) Interference

APRLD @gggauq_ Gurdlanb Q(maGELd gell @érauny HepssiLBEng
“(A) e dlGymedl - (B) @i sfiveyser
(C) Ggnaf | - D) epssd
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11. The magnetic bearing of a survey line is S 70°E and magnetic declination is 2°W, the
true bearing of the line is

(A) ST72°E (B) ST2°W
(C) ST0°E | v S68°E

@ ety Canligan sMbg HavesCarear S T0°E wpmib anhs @nésb 2°W eaafléd, Camiger
2 amenwwnar SenssGamer

(A) ST2°E _ (B) S72°W
(C) ST70°E (D) S68°E

12. The standard size of plane table is

(A) 50cm x 30 cm B) 70 cm x 30 cm

75 ¢cm X 60 cm (D) 75cm % 50 cm
STEMESH seTuLwamsullar QenhsT 2erey
(A) 50 Q&8 X 30 Qs.5 B) 70 Qs.8 x 30 Q5.5
(C) 175 Q&8 X 60 Qs.18 D) 75 Q&8 x 50 Q&8

13. Permanent adjustments of a theodolite deals with
(A) maintenance of theodolite from dust
(B) maintaining the telescope from moisture
w maintaining the relationships between fundamental lines
(D) maintenance and preservation of theodolite

Qsrera Hlanaws Caramonafluier Hrpsr sfuuB@sgse @Hao Qswd QsTL e wg?
(A) Qsraablaws Casramwrafleaw gissaldmbg Lurmofggsead

(B) QsmevaCrrédlanw rysHalmbg Lgmofsse

(C) <egiuemL Car@sEpsdlaCuwrear 2 ey (peppaw LFTDMESE

(D) Qsrenevblanes Caramraflenw LFTLMES50 WHMID LITGSTESS0

14. One of the characteristics of a tacheometer is
\.M multiplying constant is 100 (B) additive constant is 100
(C) additive constant is 0.5 (D) multiplying constant is zero

&pné eSgwreflulier uaTysafled e
(A) GQumése wrdlel 100 B) &l i_e wrhel 100
(C) &l e wmhed 0.5 (D) Qumsse wIH LHeluib

& | ' 7 CECVE/19
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15. Back sight reading taken on a point with R.L. of 100m is 1.5m and fore sight reading
18 taken w1th top of a tunnel with inverted reading of 1.5m. The R.L of tunnel top 18

(A) 1015m - T A\ 103m
(C) 105m _ (D) 106 m

R.L. 100 & 2 enws yerafluflelr Qerurienat erey 1.5 & LDg)g)JLo yenslGurédluder Guoed(mpa)
THSHIUIL L. gamadiprear (pemuTianal eral 1.5 S sy, yos Guradllear Guhu@dulen

R.L |
(A) 10158 (B 10348
S (© 1058 : ©) 1068

16. A contour interval is
(A) Horizontal equivalent
(B) anScale of contour map
Vertical distance between two successive contour lmes
D) ~ Area of contour map

&(1h D6 mqu&;m'_lq_ehT @en_Cleuafl
(A el Ha '
B) swer ueyGar@ HleoluL e GLILGTa
) (C)  @Qran) 2(HE50Ss Fuwar euanpGarliy pdlen Cuwren Crid@sHg SN
(D) ewen suagCan® Hleoiuger LigliLieane) - .

17. GPS instrument works based on signal from

(A) Telecommunication tower . (B) FligHt
Satellite : (D) Rocket
GPS e usyesrorans @51661@;5@ GU(HLD @gﬁluummuﬁlaﬂnm Geuenaev Q&u.léﬂmgj
(A) Qsrenes Qeriys Carymb B) euneris
(C) Qawperss Gamer D) qgeyseent

18. The ratio of linear stress to linear strain is cal.led

Modulus of elasticity (B) Bulk modulus
" (C) Rigidity modulus (D). Poisson’s ratio "
CrComiys  saaalnELD G‘IBGI]'I'I;I.Q.‘&; ANGHEn Qe Cuwren oz Geueunm
. Seop&sUuBEng) .
- (A)  Berennd Gewsd B) u@mws Gesw
- Q)  eRerpliys Gewrad _ (D) umisnen Hsid
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19. The maximum bending moment for given influence line diagram is

200 kN 100 kN

ﬁGm—}—Sm—[——Gm—T

3.6

2.4
(A) 240 kNm . (B) 720 kNm
960 kNm : (D) 1060 kNm

Qar@&ssuu’(Herer ellenereayd G&ﬁ@ aueruLsdlan sflasulg Hmuy eflans

200 kN 100 kN

Eem =i~ 8 m -6 m -

56" o
(A) 240 kNm ' " (B) 720kNm
(C) 960 kNm ' (D) 1060 kNm

20. Every cross section of a shaft, which is subjected to a twisting moment, is under

(A) Compressive stress -(B) Tensile stress
M Shear stress (D) Bending stress
wn&@ SHouy essE 2l u@BssluBb, &stg,swq.eh geauGleurm Geul(Hu uEHywb
Qo QméEL _
A) Qnssssosay : (B) Sererwns gawsay
© posssssey - D) awaagsosa
o3 9 CECVE/19
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21.

22.

Two Shafts, one solid and the other hollow, are made of the same materials and are

~ having same length_énd weight. The hollow sht_lft as compared to solid shaft is

(A) Lessstrong

J More strong

(C) Same strength

(D) Can't be comparable

B spéd sen(es, gy Serow oGprey 2 def_bns). GG QUITGETLESTH SaTE.
Simesdfian forb wipb swL §Cr LrBAUNED. Seno o sETELE GUEGHCLTE
e arafLpp Siped eRTH. | '
(A) '@mmﬁgsuc&mm;.;m_mg

B) 9fsadsvyeLwg

(©) @CradawvyeLwug

D) gLl prurg

For a material, the modulus of Rigidity _is 100 GPa a}ld Poisson's ratio is 0.25. The

value of elastic modulus in GPa is

Ay 100 S ®) 150

© =200 wviD) 250

9@ Quimefiar Aeprins Eemsnd 100° GPa mﬁ;@tb umiisTén Afgw 0.25. BSearenws

GerssHan wHOL GPa @
(A) 100 | | ®) 150
(C) 200 : D) 250
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24.

If M—moment of resistance

I —  Moment of inertia of the sectlon about neutral axis

E - Young’s modulus
R — Radius of curvature

o — Bending stress and . _

'Y - distance from the neutral axis where the bending stress occurs
' M R o ' M Y R

A — — i —— —

@) I E Y ®) I ¢ E
- I o E M o E

C — I — — J —_—— I —

© Y R ) T°Y R

0, Geumm M-~ };ﬂ@uumm cr'é,lnul_ag,:!_ﬂg)w .
- pHbeo® SiF@sLs Giurrgggl sLESaIS g]@qu,ymw

I
“E — Wi @GS
R - cuemaney <S4 TLD,
o~ . SUKTESSMSE, LOHMID _
Y - oo sisfldmbs mwmmg, SmEa Qsmmu@m |_|errs1ﬂu5]air Sy
- M R @ - M Y R
A —_—— = —_— — e —
@) I E Y ®) 1 o E
I o E M o E
C —_—_ = — i — e —
© M Y R (D_) I Y R

. The maximum deflection of a simply supported beam of L. with 4 central load W, is

where E is Young’s modulus and I is Moment of Inertia.

@ W . e’

3EI | 48EI
~ WL ‘ o _ - WL?
O & - D =

EngryenT grrﬁia%]um.m L aemp Berepw wgduier ‘W' aenp yereflls u@penaiyd grrrsjaud'rm

o gErsddn Hsuls sﬁ]wa;su.o, — e @b E=ud gensd, I = sLggad
Aouqs Hper S |
WL W WL
® ZE (B).'_ 48E]
. WL o WL
© s _ @) © 3EI
TR :  CECVEN9
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25. Maximum sag (or) Dip of the cable varies from _ ofhorizontal span.

1 1 1 1-
A) = to — : = to —
(A) 0 | _ _ \610-15

5 10
' 1 1 - 1
C) — to— : v—to—
© Htw o (D) 20 25

S a_gfer Sifsuls Osmiey sidag Jlﬂ&i A L uney farsenss CLiméd

2 GLD.
1 1 S 1_1
@ 51 ® % 15
1 1 1 1
© 5w O %%

26. Ifa cucular shaﬁ is suhjected to both Torque T and Bendmg Moment M. Then the
equivalent torque Te is given by

(A) Te=M?+T? \dri"e— +T2
(C) Te=M*.+T° @) Te=VM*+T?

M UL Hpa gsﬁn.urarrg,j Wose dews T whmb amaa Hely s M opdu
QraRTgHELD p_l;u(aggthuﬁ,l._rrd). ‘op@eLy guune  wnsE s Te  @eéueummy

QarREs U Hereng).
(A Te=MZ+T? ) ®B) Te=AMZ+T?
(C) Te=M*+T? D) Te=IM*+T°

27. Which of the following theories is most suitable for ductile material?
(A) Maximum principal stress theory (B) Maximum principal strain theory
M Maximum shear stress theory (D) Distortion energy theory
Barssés Qurmarrog G Spsaan aps Cam_un® Bsayb e 565 ?
Q)  =fsulsppaaing sose Cenur® (B) wfsus paaenng Hifly Camun®
(©) ofsu’s ppés lenss Carun® M) 2 mégooas Hnar Garun®
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. 98.

29.

-30.

The order of the flexibility matrix for a structure is
\d equal to the number of redundant force
(B) more than the number of redundant force
(C) less than the number of redundant force |
(D} equalto the number of redundant force plus three

- (M s el Qe Gpeflenn senflufen Ligwireng).

4A) sl TR leauiicn aranarilEmssEs FLOD
(B) sflfleswunan dilasuien aanaflsmseueii_ oifsn
©) sfliesuner fmsulan aramaismsmueii Goney

(D) af.gﬂtﬁlmasu_mm elleneullen eraivenflsama sl L b apeinmy — eflH@ FOD

Eu.ler 8 Buckling load for a column whose both ends are ﬁxed having a length of 1,

" modulus of elasticity E and moment of inertia I is

(A) 2qEIfIt & 4rElr
© =EI/ar | D) szI/lz

Bemd ‘U’ Beveniod @sma;n.b ‘E wvpgb sLsme HwugsdHper T G]&WGNTL. @qm@ PEENS(EHD
Beraliu@gsuucL gresfler iefien Qpafigad uEs, - _
(A) 2x°EIf (B) 4n2EI/t

(C) #*EIfal® - D) =*EIPR

The maximum tension in a cable occurs
\M at the highest point in the cable

(B) at the lowest point in the cable

(C) at the centre of the cable

(D) at all point in the cable

e g _.sq@.sul;& Beranio Bk gouB®Ang)

(A)  aLgder BUQuep yarefluile

B) eansdar By Leralule

I(C) suL_gSlen enowigEla

D) aLgdHen oagg Lareflsafignd

13 o CECVE/19
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31. A series of concentrated loads traverses a simply supported beam. For maximum
B.M at a given section to occur, the load system must be placed such that

(A) the heaviest load is placed over the section .

« the avérage loading on the two sides of the section is same i.e when the section
divides the load in the same ratio as it divides the span

(C) maximum number of loads will cover the span

(D) the load is placed over the centre of the span and the rest of the load system
' acts accordingly

R ST sraduyeLw o Hrsess sLbs @@ Asdap’ Ll L uEns AL Qeddng.
Aesrhésuul . Gal Gl ugfulldr sFsuls euaaeys Hmuy eblens gHul uEy
Sieliureng) @eeury meussii GCeueaki(Hib :

(A)  semprer e Geul HiL LGSl ereusslLIL Gmm@m

(B) Galpl ueHser @mn‘r@ uESUPD QFLRURHL &Un&rﬂuu@eﬁlw DiETeY RIS

Bvss Casrpb sigrag, Qaulfeypsd urey fojes abs aﬁlﬁg,g;ﬂev “R&fpGan
2iCs s LEnssmanb 9MEs GeuaBid

(©)  urey Bearsans sifls araneeflGansuliemar LighESET qu.uﬁl@uugl

(D) ueseumarg LTey ‘rfjmg)'é,]m wéHdd @aidsiul.(, Bpeperer LEs SiLUUTEE
SI5HE Qarhs QewuduBin Curg '

32. For keeping the stress wholly compressive the load may be applied on a circular
column any where within a concentric circle of a diameter

A) d2 | . (B) d/3

N a4 : D) &8

el age gaflea sgosme TLCUTR WL wWuyeLWNE NéssHE GmEEGLD
@ més, UEhunarg QBs QS]L,I_(y)GmL._I.LI Qur@ GLDILL GuL.l_g,ﬁ,r_r)@m G&gu,sguul_.

Geuam(hd
(A) d/2 B 43

(C) d/4 - (D) d/8

33. In plastic bending of beams the shape factor for a rectangular section of w1dth ‘6’ and

depth ‘d’ is
1.5 ‘ - ® 1.7
(C) 2.7 - D) 25

GméSG Qau @ wglhlen ‘D eisesosuyb ‘d gpémsyb ceLw CFdieus euge
2 gfogHear Apflip H LSS e cug aud sryent sranug)
@) 15 ®) 1.7
© 27 ‘ D) 25
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- 34

35.

. The number of pomts of contra flexure for a ﬁxed beam - carrymg -uniformly
distributed load over the whole span is '
@ 6 . - v 2
(©y 3 D) 4
Lirey Sarih Wb & Qgmit &GIDLDGO)U_IU_[LD @@ @mm&aﬂ@m &g,ﬂu &memumuum 2 GOl LI
S AL gdi g)@ CTHSST euenaTenio WAHYIL Lareflser :
(A 6 o _ ®B) - 2
€ 3 . - D) 4
A three. hinged arch (parﬁbolic). of span ‘L’ and crown rise ‘h’ carries a uniformly
distributed super imposed load.of intencity ‘W per unit length. The hinges are
located on two abutments at the same level. The third hinge is at a quarter span
from the left abutment. The horizontal thrust on the abutment is :
WL?
A
@
WwL?
® 6h
@
8k
WL?
D
©) 12h

nrey Berd ‘L, 'lr_r>® o Wiffey h'wﬁ)gl.b RODG ;_ﬁmé;ﬁ;b@ ‘W viené Qeflanaus QaraimL & Qam_i

- G 2 el I ppeTm S BlenewTliL| LIFeUETL auaneTeneud Gamem. . Lme  grawsalley,

B sarsafigb @GCr wL L He & Gaerriy BwEAng). apenpreug S Qevertiy, GL Uiy
une giesflalGhe Hreandid @ Lkig LTey gipgsle @@a&@@maﬂm ure grewflem fepiol L

| -ﬁ@gg@wwu@ |
’ 2
-
L CWr2
w
- 2

© L

: 2
o =

5 o CECVE/19
[Turn over



36. - The bending moment diagram of the frame shown in figure will be

@ { | F
© %

21
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C 21

®) % 7
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37.  The flexibility matrix corresponding to coordinates 1 and 2 for the structure shown in
fig is '

A LB

2 i
;jé ;; a’/- 1

2,).C

£
i~
~

EI = Constant

RV 4 I‘,—[d IJ ®) m"‘—[“ 1]
i 3EI |1 2

6EI |1 2

Z.[3 2 L [8:2
O —— ) — j

2EI |2 4 3EI |2 4
2w Gsneae) 1 wHmb 2 pé& Qe Ger@ést Qupp uLSHNEG Opdpe; siamflls Carens
GTELIS)

2,).C

[ \
;; L 4 [ T
/ 1 1

EI = Constant

L |41 L |41
@ - E [1 2} ®) ﬁ[l g:|
L |3 2| L |32
© SE [2 4] ®) ﬁ[z 4]

38. The ratio of load carrying capacity of fixed beam to that of simply supported beam
having same loading of uniformly distributed loading throughout the span

(A) 0.33 B 1

w 1.5 ' (D) 3

umrey Herd appeugid & Agmir Lien ghpiiu’ L o nifl gl el L b wHHIb saipear s
el L sHlen ‘LEn 5155 Hpen A0’ aranLg)

A 0.33 B) 1

(@) 15 : D) 3
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39. The most accurate method of determination of moisture content of soil ﬁass
(A) Sand bath method o | (B) Calcium carbide method

M Oven drying method - (D) Alcohol method

wararfian Friugses Bsab sfluns sensd® Qe apenn eemLig

Q) wer puse ey (B) smerélund smteu® e
(C) . conew— oot enp . | (D) yasaprd @mﬁ)
40. The range of silt particle size 1s . ‘, .
&’ 0.075 mm to 0.002 mm  (B) 0.75mmt00.02 mm
(C) 7.5mmto0.2mm (D) 75 mm to 2 mm

GUBRTL_6) LoehT Gseflar alda: erevanen eTeiTLg)
(A) 0.075mm t0 0.002mm B) 0.75 mm to 0.02 mm

(C) 7.5mmto0.2mm | (D) 75 mm to 2 mm

41. Phreatic line is earthen dam is

_ \’/pérabolic . (B) straight line
(C) arcof circl'e. ' (D) elliptical |

LDERT amémé;&l'_q_eb Aum_iys Can® earug)
- (A) LIFeuenemLit - (B) CpiCar®

(C) e g cuenaray - (D) Serau L

CECVE/19 - 18



Efficiency of plle group ie defined as

A) load carried by the largest pile in the group
load carried by the smallest pile in the group

®) - Maximum load carried by a pile in the group
Minimum load carried by a pile in the group

©) Minimum load carried by a pile in the group
Maximum load carried by a pile in the group

| J Average load carried by a pile in the group
load carried by a single pile

‘Bspss Hrlgen Spen’ arémugy _
Aol ger Quilw GSHEsEIicn Bg s (LiEn)

A
Syl igen S GSg&m0 e gy Senwo (Liem)

GSH&s Pl B s ifls aren.

B :
@agss 0l 1Bs) 108 Ganbs eran {Lien)

© &S51&s e B 10& Geanbs e

@g’,@é&#@uﬁle&r LBQ 105 Difs aaL.
Gsisafullan Bg eynefl eren

™)
P G55665 Gen Bg) erent_

Permissible settlement is relatively higher for
(A), isolated footing on clays '

M rafts on clay

(C) rafts onsand
(D) isolated footing on sands

DDHESIULL Diaprsd’ aenug Poalle sifswis Fnrsdps
(A) saflpanafld o drer safis seoLssned &S

(B) seflnetraniley o arer Limiy 5@L$$n@9;Q@

(O wenallé 2 aver LMl se_ssrdliHs

(D) wemade o édren gafls sanssmedHea
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44. For ¢=0, the Terzahg bearing capacity factors are
() N,=1,N,=57,N,=0 | |

(B) N.=0,N,=57,N,=1
wf N =57 N,=1L N, =0

(D) N,=1,N,=0,N,=57

¢ =0 -Ganen Gl_rjerreﬂuglsa SIS ,rp@w;esrraﬂ smyeflser e
(A) N.=L,N,=5T7N,=0

(B) .Nc=0! Nq_:5'7: N" =1
(© N,=57,N,=1N,=0

‘D) N,=1,N,=0,N,=51

‘45,  While driving a large number of piles in loose sand

it is advantageous to follow a sequence of pile driving such that the i inner p11es
are driven first and then proceed outwards

(B) itis advantages to follow a sequence of pile drivieg such that the piles near the .
periphery are driven first and inner piles are driven later

(C) it is advantageous to follow a eeQuenee of pile driving such that alterﬁately
inner and outer piles are driven | ' | ' 3

| (D) driving of piles can be done in any random series

Qpé@sq weaeredléd BiHla sresmaniliensude @g;g]aseslﬁswcn O ETCIE R @;ﬁg mrﬂm&uﬁ]m
AnssiLGHng

(A) apsedléd enowis u@@ G55E sflser ﬁlgp@ Qavefliugd @ogis sflae
B) apzde Gmaﬂ&pg ©5516 aflsdr Ape @LWLILEGSE GH5I6 Syl
(C) ewwlLGH LI Qmaﬂ&lqp G55 siflsdr wrpny epapuda (spHél papuliar)

D) eaaruepubn WPepuld AnéEse

'CECVE/N9 20 o o



46

47.

By using sieve analysis, the particle size distribution curve has been plotted for a
particular soil. The coefficient of curvature C. is given by

(A)
B)
)

D)

D."SD

(Dgo x Dyy)

DSU

(Dg XD120

2
‘D30

(Dgo % Dyo)

D

(Dyg x Dyg)

s UGLUTUemels uwau®ssl em @HUYLL waraing giser ey deuLm
euenTwLL L g). euamareysGay (C, ) @eusunn GarBasiul (Hererg).

4)

(B)

©

(D)

Dy, =

(Dgo x Dyp)

D30

(Dso ~ Dlzo)

2
DSU

(Do x°Dyy)

2
DBD

(D3 x D)

If the specific gravity of soil solids is G and porosity n for a sand deposit, the
condition for hydraulic gradient (ic) to develop boiling condition is given by

(A)

©)

; _ G+l
s 15

. G+1
B

c

l1-n

D)

IC‘

L

=(G-1) Q-n) -

ey

l1-n

e gsaflear sanaiity G yegew 7, eaeybd Qsrarird, Qardflee Biw Haoeamuw
2 (Heuns@eunsrer Brpsss Cam_igen smie) fleve @deurn GerGésuul (hararg

(A)

©

; :G+1

3

(4

1+n _
. _G+1

L

1-n

21

B)

()

L

=(G-1) 1-n)

feiG)

c

1-n
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48. High energy input scrubbers will pexform efficiently for cb_llect‘io_n for pérticle's of

diameter.
1-2 4 ®B) 5-10pu
(C) 15-20u ' (D) 20-25u
2fla SpDpesas Garemg kgD smedae g;]esmaserr Sjeme) @aeurn @@EEn Curgy sfls
<ierelled Ay HLb. :
A 1-24 _ B) 5-10 4
©C) 15-20 u ' (D) 20-25u

49. Warm-water fish requires a minimum DO level of
@) 2mg/ & 5mg

e 7 mg!l (D) 10 mg/l
Qeug Qeugiuy Bfle 2 6rer BenseréE Camanvrar gaphsul s DO ammrrmgj
(A) 2mgl (B) 5mgll

(©) Tmgl | | (D) 10 mg/

50.. The permissible colour for domestic water on plaﬁnum cobalt scale is

& 20 ppm ®B) 25ppm

© 30ppm | (D) 35 ppm

Herrlgend Camumer’ are Gamedleniig aS’L_(B 2 LGWrs 'rf,rﬂeu cgu@ju)ﬁ&sasuul_l_ o
eI : .

(A) 20 ppm (B) 25ppm

(C) 30ppm . (D) 35ppm

51. To prepare chlorinated copperas coagulant the proportion of chlorine : copperas is
1:78 B 1:92 '
(C)y 1:105 D 1:125
- @QemAGahDW Qe sMATEnS amm@un@mm LweT(BSsS. @Gmmﬂw grruﬁlrjm
aldlsh Geanprs Qpss CaamBid.
A 1:78 g B 1:92
© 1:105 (D) 1:125
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52.

53,

54.

-55.

An impervious formation that neither contains nor transmits water is called

(A) Aquifer : (B) Aquiclude
y Aquifuge (D) Aquitard
seanssGs Bilevens whHmbd sar eufCu Sany ém@@cu g Slewro 2i(Hé(E eTeng)
A) oELQur (B) =dl@ e
C) <=dwys D) odlm

The culture medium used in finding the total count of bacteria

~ (A) Lactose broth .

bﬁr Agar of gelatine
(C) Brilliant green lactose bile

(D) M-Endo’s medium

unélefwmefe @Lonréj}g) cramrenflEansans sarH9gé8 LiweTu(Houg)
A) orsCLmey @by :

(B) Qgevgen &t

C) uysdsrelggeanomar ifer orsEGLmeb YUgsW

D) M-aranGLmev 2ear_sib

The dissolved oxygen in seawater is about —————— less than stream water.
A), 5% B) 10%
. 20% - D) 30%
sLe Bfle sambgerer gy seilmear 2 nm Hile semgearer ysedlgeamer el Grshf;ma'rm GSPDeUs
2_GTeng)? S % -
@A) 5% . B) 10% :

(C) 20% e D) 30%

The screening units provided before the wet well should conform to

IS 6280 (®B) IS 3370
(C) " IS 4111. (D) IS 10500
& HewmisE (e 2_arer MUY UL @b Q&g @il (HEs C'Ssusm@m
A) IS6280 (B) IS 3370
) Is4111 (D) IS 10500
23 : CECVE/19
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56. Slendernegs ratio is the ratio of
(A) unsupported length' to the maximum radius of gyfaﬁon
(B) least radius of gyratlon to the unsupported Iength o
\d‘ unsupported length to the least radius of gyratlon
(D) - maximum radius of gyration to the unsupported length

G]maSlé{ afldlgib erenugl. Beubmde Gen Guw 2 crer oilfgb

@) QLLpp fersdied sfisucs son usHpew0ras)
(B)  eopbs UL IEHDED WLLbD BasHbewreg

©  Wiibp fsBiGh GonEEILS Sdn BIEDDETE

D) ofsuls wrsdbed wlLop basdbGuwras

57. The minimum and maximum percentages of long:tudmal reinforcement in columns-

according to IS 456- 2000 are ————— respectively.
(A) -0.8% and 0.3% (B)_ 1% and 8%
© 08%andd% &) 08%ande%
@3 Siefer agemwindd IS 456 2000 -én Ly Beveunss asmlﬂsaﬂan @wm‘_rogul_s Lng)gul.o
S sUL g speiphssT WapBu _
A 0.8% mwm 0.3% (B 1%uwvhghn 8%
(C)  0.8% wpmis 4% , @) 0.8% wpmi> 6%

'58.  The bank L/d ratio for one-way cantilevered slab épeciﬁed: in IS 456-2000 is
(a) 8 _ - (B) 26 -
© 20 . ' M 7
IS 456-2000 -ar Lug. @ el 2 mif) sl sengHig L/d -6 oiqliuen Gg.ma.l ereU)
@ 8 S @ 2 |
© 20 D T
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59.

60.

61.

A compression member in a roof truss is called

A flat of size 160 mm x 10 mm is used as a tension member in a roof truss. It is .
 connected to a g‘tmset plate by chain bolting. Assuming yield stress as 250 N/mm?2,.

the de81gn strength due to yleldmg of gross sectmn Ty, is
(A) 336.3kN : (B) 325kN

(C) 460N - _ 363.6 kN

@it 2 by m_t_ggso 160 4. LB x 10 B8, eraydrer. L. b @@aﬂm& 2g|uurr@5m Bis
SiepwLL FRSSILTED G5 A HLen Glurr@g,g,uul_@marrg,; G];_r;élg&é] sense| 250 N/f.5>

- srefleh, ORpdpaflaamen auly.cuentoriy msﬁlmw (T, ) ervégy

(A)  336.3kN o (B) 325kN

- (C) 460N , (D) 363.6 kN

" (A) stanchion = (B) post

M strut, - - | | (D) column

& 580 sl_r_gﬁsu SIPES eﬁl@s o MUY eTenug) ,
(A) grd B) - sHUD

© .6 | a (D) gnein

St1ffeners are used in a plate gn-der

to avoid bucklmg of web plate
(B) to reduce the compressive stress
(C)  to reduce the shear stress
(D) to take the bearing stress

@@mug S (H eNL_ruseflen Gﬂlmg)uurram;m ummu@g,g,uu@mgj
(&)  ussTL{ 2 HEE@OMa H{HESH

(B) 2SS llvFmu GHONES

(C) posE A GODSES
D)  smig s FTEIGSHE

25 | | '~ CECVENe
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62.

63.

64.

In the case of heavily loaded girders where large, curved cables have to 'pélss through

the webs, a minimum thickness of — is mandatory to accomodate the
cables with adequate cover.

(A) .40 mm to 60 mm B) 200 mm _

(C) 200 mm to 250 mm M 120 mm to 150 mm

ofs uErmagImuED oL tsafe, aLdsda CsoasnE, Yoansss e GHPHS LLs
B oanene] Geueunn Blméas Geuamtiid

(A 00 8Nmpe 60 iBamy  (B) 200848

(€) 200188 Smia 250 1815 cuenr (D) 120 8.8 S 150 B8 cuanry

The function of reinforcements in prestressed concrete is to
(A) Provide sufficient bond
(B) Resist tensile stresses
(C) _ Provide sufficient torsion resistance
Produce initial compressive stress in concrete in the tension zone

fensGubpUiLn L. sHererudd, @mwys swllsafian Coume aarug

(A) Cungwnen OemTLéEsns

(B Qeilensanw erdibaneren

(C) . Cummoner Y& adicbenssans

D)  shsrepdar Ruelias uGHule Adsara) JiapéeE llensaL 2 @mL_TéEs

The locus of the point of application of the resultant force at any given section of a

prestressed-concrete beam is the | _
(A) elastic line- _ J pressure line or thrust line
(C) Cline (D) Pline

AsCuppiu L shstey A sHd. EmEG QalPuUILde. e Blar  afleneaulie
enwwUyeref] eraiLig)

(A) BL& smer Car® . B) sz Canl® (Sid) Sipsas Can@

© C- Gar_r@. ' . (D) P-Gal L :

CECVE/19 ' 26 &



65.

66.

6.

A steady —non—uniform flow is through- -

M a tapering pipe at a constant rate

(B) a tapering pipe at either increasing or decreasing Irate
(C) along piﬁe at increasing‘rate_

(D) along pipe at decreasing raté

@ evdrones Erpp umbey Qeen ufiCw Gsadlpg

4) &rssprREbEenl |

®B) - iFsNiy sivag Gopay s siGom

(O =fsfEEn aﬂg,g,,ﬁsu 2 aer Femones @')IEQITI.LI

D) ey Sz58 6 2 erer ﬁmmrraﬂ (e_r,%prru_l

Velocity of flow at a p&irticul'ar point is reduced to ze.ro, which is known as

Ay Starting point _ - - (B) Endpoint
(C)  Centre point = @ Stagnation point

- urru'Jé.; Causid g yerafiufien %@umnm @mmutb(‘éung..authaﬂm_rrng
A)  gmbu yereflwumgb _ _ B) ey’ yeraflumgd
(C_) &I QGhaﬂuJW@Lb (D) S L Leraflwrglo

The change in piezometric head per unit iength of the pipe is known as

' « Hydraulic gradient - (B) Hydraulic grade line

(C) Energy grade line (D) Piezometric head line

g Grulen preE ‘5611"@3‘&60 FHULE St Hreu (PSS wWIHHD @enLIg)

(A) - BrGsr_ grmjeun@m iy _ (B) ﬁ,nm@mmm Cam_mgsn
©) - sppé feas Cam_rgtd (D) Qi}'@; SPHH Hlanaé G&ITL_IT@LD

27 : ‘ . CECVEN9
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68. The Kor depth for rice is 190 mm. and kor pertod 1s 14 days. The outlet factor for this .

would be

A) 1172 ha/cumecs (B) 972 ha/cumecs

(C) 837 ha/cumecs \ﬂr 637 ha/cumecs

Sif&lEE G b LHDD SR etey apenGu 190 5 mmgum 14 priser erafley
QeuallGuipm srgerfl eraug)

a) 1172 ha/cumecs B) 972 ha!cumecs

(C) 837 ha/cumecs (D) 637 ha/cumecs

69. Command area which includes both cultivablg and unlcult,ivablé area is known as
J Gross command area

(A) Cultivable command area
(C) Net command area (D) Extensive command area

eflevenigéd  LHMIL sﬁlmma&mmm ugﬁlséﬂm edrerLédll Lweunll  ugd

@mmrrmmg.pssuu@éﬂmg: .
&)  wsed ugd . (B) Qurgg uweum.( LG

©  Payuwenum.@ ued ' o (D) uphs vwemurL (B LES

'70.  The flood discharge passing through a river at a weir site is usually estimated by
using

(A) acurrent meter

(B) 5, a surface float
M a gauge — discharge curve
(D) adilution fechnique N
SHULMeT 2 aTer @it S8ld yHetr Qaurar Bt GaueliCupmd Glurrg;a.:rra; Pngs Geranl
semsEl UGS ng) .

A) emBar vraflaws Qara®

B) omGudvlL Bgmauaus Qsran®

C) omame - QaueliCuppid mml}ul_g,mgsm Qe -
D) Bréss Q&u_ru_u.o e

CECVE/19 28 . : o



7 1

72.

The loss occurred in the qﬁantum of precipitation before reaching the ground surface

is known as
(A) Infilteration
(B) Percolation

(C) AIJSf:'act1011

M Interception

waplitunfe) searaws QsrHuper gHuLL @iy aeamg)

Q)  eaB@peus
B) aflge

€) edlerasd
D) sbsse

The probability of occurrence or exceedance is generally represented by P and would

be equal to the following expression where the return period T is involved

1 _
._K( Lo B) 1xT

©) T D) %

woUg b B Hlapsse eumiiy 'P' aarmib Hmbyb sre erey 'T' erareyd QsraLe,

P-&@w T-5@b 2 drer Qgm iy

(A) % (B) 1xT

| | ' ol

(C) 4T (D) T
29 CECVE/19
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73. For maximum discharge in a circular channél, the hydraulic radius is equal to
times the diameter of the channel

(&) 0.20 | (B) 0.24
© 027 wf 0.29

il alge GREGLULE srowmde sifsuls BitlaefiGubpd ,r_rgl_.uuﬁg;o@ ;5rru: DT

eTeLIg) won umiEsnd e Lib
(A) 0.20 ' B 024 -
©) 027 , (D) 0.29

" 74. The cross drainage work where the bed level of the stream and the canal are more or
. less at the same level is called

(A) Aqueduct - ' (B) Syphon—aqueduct
Level crossing (D) Super passage

SOpUUesyd wnissid ulesyd gnégonu ¢Gr il feowuld e drer afeusmu

ueRtlsiemaETen @Q]&E@ Gulq,asrrm SiDLILY GremLIz) - D
(A) B swagh @Qmu B) anqard-fi &G0 Gemi
€) EnssE0 How (D) des e

75. The total pressure "P" acting on a sluice gate is
(Where B, F, — total pressure acting on the upsiream and downstream sides of the
sluice gate) _ :
(A _ -A-PB : B) A+p
A-F, D) -A+PR,

P, P, aeéug ¢ff Siewenssseid Coduss womb &) usd Siwssd aars Garammd,
Qs Siwssh P’ erarug _

@A) -B-p, | | (B) PB+R,

(©) PR-PR, - | D) -B+F,

CECVE/19 ' L 30 . o



76.

{ (/8

78.

A 25 cm diameter pipe carries oil of specific gravity 0.9 at a velocity of 3m/sec. At
another section, the diameter is 20 cm. The velocity of this section 1s

(A) 8.64 m/sec (B) . 7.4 m/sec

(©) 5.23 m/sec \g( 4.68 m/sec

S ussb 25 Qs.18 AL swb LYussD 20 Qa8 L Samswb 2 e w @b G, suw
iy 0.9-26 Qsrearr opuded @ LsssHmbE 3 B/eflanmg Caussdled wnLEHD Gade)n
Gungy gen GCoustd eTammg)

(A) 8.64 m/sec (B) 7.4 m/sec

(C) 5.23 m/sec (D) 4.68 m/sec

The instrument which is used to measure both the static pressure as well as
stagnation pressure in a pipe
(A) Pitot tube (B) Venturi meter

,ﬁ Pitot-static tube (D) Orifice meter

RO GRTD Bl (s LHHIL SREG SIWSHLD s wepan sierellHd sbetl
4) SCLm B) QeuenBM B
(C) SCLmevCLigs @Gmi (D) smperey BLLT

Stream function applies to
(A) ,Only irrotational flow
Both rotational and irrotational flow
(C) Ohly rotational flow
(D) Only compressible flow

BCymL sniy eramug)
(A) spony @LLD
(B) & wHYL HPOHD G LD
(©C) &gl
(D) &smhE LD
31 CECVE/19
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79. Euler's equation of motion can be integrated when it is assumed that
. The flow is irrotational and incompressible
(B) The continuity equation is satisfied
(C) A velocity potential exists and the density is constant
(D) The continuity equation is unsatisfied

g Befa GQubs soaun® @Qbs Haow @@sEuwtung uu.re&m(_i-};é] D&
(A)  spebhp wHHL sGHSs0HD BCIM_LsHd ' '
(B). | Qamit gwenun() ﬁ@ﬁl@u@ﬂ)@un‘g

(© @@ Causb Spen 21z LHDL SILT6H Hoewrag

(D)  @snit swerun® Smodueng Cungy

80. The most important two features of modern ecivilization are
(A) Infrastructure and population ‘
- Urbanization and industrialization
(C) Population and construction
D) Commercialization and globahization

- pelien prsfagden G sryaiisemeug
(A)  edaslL@wuy DR wheH AgTas
B) payLLLIGESD WHHD QsmBdwwIorssd
(C) wéaer Agrens wHmD & Hioremd

D)  aueflsd WHHD SrFTEMOLIONESD

81. The number of lanes required in a highway depends on
(A) Design hourly traffic volume and width of vehicle
(B) Design speed and volume : |
(C). Clearance and design wheel load
%" Predicted traffic volume and design traffic volume.

' p® Oppsrmalo aufsad aanelions G@ss sritss
(A)  eugaiemwly wefl Cry CLTSERITES DIATA) OHNILL QITSET HEGQLD
(B)  agamwiy Gash wpmd HeTey ‘
(C) Qe Qeuafl pmd cugauanoliny sésy Ligh _
D)  saflssiutc CuTsGarsg whmpib aneemoliy CUTEGaTES!
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89,

83.

- 84.

85.

Super-elevation on roads in snow bound areas, should generally not exceed

& % B) 10%

(C) 12% o D) 15%

vefluLihg ugdude srameuiear Wems o wiey eaug Qurgeuns @aseill Hswrs
B m&EssaL g

A 7% B) 10%

C) 12% D) 15%

The slope of adzing of sleepers is

(A) 1in25 (B) 1in 30
© 1in15 v 1in 20
@ruiles s sl safler ‘Ldlm sfley’ erenuig)

(A) 1in25 : ' (B) 1in 30
(C) 1in15 (D) 1in20

Shunting signals are known as

(A) Routing signals - (B) Starter signals
Ground signals : (D) Warner signals

uflorbn sullGanasser Greiﬁu@

A)  aflsrl () sbllsamsser (B) <yrbu sflsamssar

(C) soysldsmasen (D) assflsens S0 EEEET

The Airports Authority of India (AAI) was formed in the year

(A) 1935 : _ (B) 1955
(C) 1975 1995
@nHw afwrer Hlenewnisailen oyamanrwib (AAI) Gsr_risiul L @
(A) 1935 ; ' (B) 1955
(C) 1975 (D) 1995
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86. Bottom most component of pavement is known a5 _
w Sub grade - S (B) Wearing Course

©) Base course g ) Sub-base course

.EW@”GUE SeTEEleN Bilg SHETLD GTATLIF) | _
@) pragsed (B Coueobés
(C)_ . -ﬁbﬁm@&@ﬁg . o ' p D) oy HHES

87. The most popular method of constructlon of wall break water is
(A), Barge method

) J Staglng method

Low level method
(D) ~ Barge and stagglng_ metho_d

ol sienes sOuuner UL G54 Quﬂ)m @mgp
@) sLewop

(B) Guaere wep

(C) gn@‘@ms\}@wm

D) uwe w;bguLb GoenL e .

~ 88. The dlameter of the graduated circle on the lower plate of a theodohte deﬁnes the

W Slze o . o - (B) welght

(C)- Accuracy o (D) Precision .
0 QGqurL_wa)l'__Lq.eb, EipS5L.1g.60 o e G}JL:;L;S,QGBT Gﬁ].L'._L;L'D_Gl'GfJg;é; @'@é;é] D&? -
(A) = semey - o B) e - B /

©  gedui ©) mun
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89.

90..

1.

Mud-Pumping is .
% Ejection of soil_ slurry (B) Failure of soil sub grade
(C) Failure of R.C. Slab (D) Cracks in pavement
D&Y G]Gudﬂ@u_lgj)glb GTEILIG)
@A)  wvarsefl QeuafCuippid (B) weam 2igss6m G@OUTH
(C) R.C. shsmeng @ennur(h (D) ereager Qeug.Liyser
Find airport reference temperature using mean Max daily temperature 40°C and
mean average daily temperature 22°C
(A) 25°C - 16{ 28°C
(C) 40°C (D) 45°C
gynefl Qeutiuflenew 22°C - whpib oflsuls sgrefl Qeautiublere 40°C  aensQsmem_me
eflwrer flevoows &My Qeutiuflene erenig
(A) 25°C (B) 28°C
(©) 40°C D) 45°C
Stationary type of mooring accessory for ship is
(A) . Anchors Bollard
(C) Cables (D) Dry Dock
sUume Hlaalu@Ss LWETUHD SeFWT el
(A) prsagD ' B) gnewr
) e D) 2 eoruaiwamer
35 “ CECVE/19

[Turn over



92.  Name the type of contract when the contractor undertakes the specific work with all
its contingencies for a fixed amount of money

(A) Labour contract Lump sum contract
(C) - Item wise contract (D) Sub Contract

a@iumgnm Qeeeisar SLmdu gm EALA L Caumemw @n GHUlL Asresss

@UUBZLD GEwib (penn 6TeTLIg)
(A) Gsmflerert @UubsLD (B) Qunss @liLbswD
(C)  auemsuunr(® euuUBSLD (D) eer eliupED

93. The following are known as
(1)  Advancement in the planning ideas
(i)  Extra high ceiling
(i11) Structural change
(A) Obsolescene A functional obsolescence
(C) Economic obsolescence (D) junk value

(1)  Apdurs SLbl(BHge

(1) =fls 2 wiey

(111) &__(Homed IHmHLD

@eeuser @eucurmenpasiuB S ns)

(A) =2uCGurswpmensy B) =g Cgmeved
(©) Qummernsry GemLm®H (D) wvilunmeneu

94. Which of following method of valuation will be adopted to value underdeveloped
properties '
(A) Depreéiation method of valuation (B) Valuation based on cost

(C) Rental method of valuation Development method of valuation-
Gumr’r-éfﬁu_lml_u_mg, Qenggissamen HUSH Celiub e eTamig)

(A) Gswwrer apenm : (B) Qsrens penm
(C) eam_es pem (D) Cuburl® qpen
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95

96.

- 9T

- (D)  =piiey, Censenen HMID Lorrgl-lﬂ

Ina projecﬁ, the major quality control methods are
(A) Testing and sampling -
(B) - Inspection and testing

(C) Inspectmn and Sampllng

M Inspectmn testmg and sampling

@_(_ﬂj le_f,ll_l_Lﬁ]l_sﬁlaJ &l a;t_®uum_® me;pa;mrrmg,i

. {(A)  CGergenen mpg}jm wrdfl

(B) ég_bu.xs\.;_mmg]m GCangonen
©) - <oy wpyd wrdfl -

' The earliest method used for planning of project waé

(A) - CPM ' ' (B) PERT

() Milestone chart | ) Bar chart

"YU Smey é‘lt.'-t_uSl(ngﬁJ pom TeTug) _
4 CPM -+ (B PERT
(C) Milestone Cha_rt ' (D) Bar chart

Activities that can be performed snmultaneously and 1ndependently to each other are

known as
(A) Service act1v1ty : w Parallel act1V1ty

(C) Successor act1v1ty _ : (D) Predecessor activity

.6"}_)@[}’ CrrsHa Hpd @@Gp)rr@ m;_r;@;mremy g,cnﬂg@aﬂn_nrr& Q&luu_luu@m umﬂaam srearug,j
@, Ggmfued . (B) Govawr L -

©) Gervef - D) apan el
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98. Which of the followings statements are cofrect re'gaii'ding revised estimate.

L _When the orlglnal sanctioned estimate is exceeded (or) likely to. exceed by more
than 5%, revised estimate is prepared. -

II When the expenditure on a work exceeds (or) like'ly to exceed the amount of
- adminstrative sanction by less than 10%, revised estimate is prepared.

III.. When there are inatex‘ial deviation from.the'original_ p'roposal,_ even though the
cost may be met from the sanctioned amount, revised estimate is prepared.
@) LILIL : . ® LI |
© mm | - A Lm

| LDQJLD;Q ML (l,peng) QgrLfns uﬁlésrm@mmmj)gueh ST8) sr’ﬂu_srrsar@
:I.' aped m@ulﬁ’@ (péneren el 5% e.@&ﬂ&@m@ur@ a;susug_l a{,é,]a;rﬂa;suu:_mrrm GTG:ﬂGJ N
- op m@uﬁ@ gunﬁla;esuu(g\élg)gu
1L @@ uenfissren Claeawey ﬁlrra.lrr.s 2588 g ®HH 10% @aa;pmrrm SleTeney L&@ﬂwnm
Sioag Wigrs Cripsrd LDQ] wHUSH QeuOLGHDg. : :

. III.I fireurs  gEsSlghed  Geuuapruybd Gratmrr@;m' @g@ﬁ@ Qer@éauulL
CurpLsErsguue Gaugy QursbLsdr uu.ncmu@gg Goueiry. @@mgnm LDQ] LYWL C)

gswrrrﬂssuu@aﬂpgj
@ I, II, giel . . ® Lo

(C) ILIII o @ LI

99. The fund which is gradually accumulated by the way of perlodlc on annual deposit
for the replacement of the structure at the eng of useful life is known as

(A  Annuity | Sinking fund
_-(-C)'_ Depreciation - ' D) Pr_icing

Rb S LG sRQFLW, m@chgngm CaflEs i Qg,rmn& arasTLg,
(A auhLsQsTms ' (B) Gsuﬂl_n_; Qg rend
(C)  Gsuomemd - - | _ D) efleney

CEcvEns 8 | -



100. If-the optimistic, most likely time and pessimistic time for an activity are 7, 8 and 10

respectively, the variance is

(A) 020 _ ( 0.25

(C) 0.35 (D) 0.50

BLUsMmS STeL, ’rf,]&@Lb T LHML erdiurgr srw WeapGw 7.8 wHmb 10 erefle,
wrmur’ Gl e ereLig)
A) 0.20 B) 0.25

(C) 0.35 : (D) 0.50

101. The water which can be utilised by the crops from the soil is called

~(A) Hygroscopic water

' J Capillary water

(C) Gravity water

(D) Free water

uulrseTmed wearTentle @) mHs LweTU(HESEamiqw Brreang @eieurn siewssluBEns.
(A) mgp@@ﬁm’u(ﬁa;rr@ ST a7
(B) mewryenip semreRtiv
() ViAo ol
D) sefss sanadi

o ' - 39 CECVE/19
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102. The range of alumina present in good brick earth by weight is
(A) 33-35% ) 20-30%
(©C)- 10-=15% (D) 15-20%

Qemnise @&U'_IU._II;I LwaUESSUUGL  G®WdLS géﬁTGU)LDu_]&iiL‘U_I wearranfled @) (HEGWD
i udlearmellen eiFa erevancy erent_ullen jareiiey

A) 33-35% _ - (B) 20-30%

) 10-15% : ' (D) 15-20%

103. Crushing strength of sand stone is : :
(A) 75 N/mm?2 w{) 65 N/mm?
(C) 55 N/mm? (D) 45 N/mm?

et sevedler GlpTmirE eusllento .
(A) 75 N/mm? _ - (B) 65 N/mm?
(C) 55 N/mm?2 : (D) 45 N/mm?

104. The major constituent of cement is contributed by
(A) Alumina HD Lime
(C) Silica (D) Magnesium

AOL g uler QuEBLLES Bsame éeﬁTLnﬁudngj
A4). <ogfenm ; B) sawewtmiby
(C) Sdsam : (D) Quwsat&lwib

105. Soundness test for cement is conducted to find
Free lime (B) Iron oxide

F(©) (Silica’ (D) Alumina
Sl guied ausening Gangenan Qenssd s (H 9468 BLSsULHE DS

(A)  slLDD seTE@RTTLOL B) @mwy psamen(h
C) &dar D) e
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106.

For an eﬁ'ectlve vent1lat1on system the temperature dlfference between 1n51de and

~ outside should not be more than

(A) 20°C P (B) 10°C

| W scC S D) 5°C

107

108.

@ Lwenn a;rrmCS[Drn_L_ sepoliber o L um mmguw Gleuettuiyp Qeudu Gmgyurr@ @gm@
Wlamne @) més (Eeue'm@m .

@ 20 (B 10°C
© sc . | ®) 5°C

Sound absorption means
(A) loss of sound energy

(B) prevention of transmission of sound waves

preventmn of reﬂectlon of sound waves
(D) " reduction of scmnd '

@afl 2 L BeUmEs TemnimeD,

A)  pasdpar Gy

- (B) G6dl BimevEET aSLg‘e_r;uu@eusmg, g,@g,g;su _
' G @ s@esdr Grdudiiemy g,@g,gssu

D) pds @wmuu

Type of crane used in a congested area is

~(A) Gantry cranes , o (B) Tower crane
(C) Climbing crane _ d "Mast crane
Q(ﬂjlﬂ&él) i&s uESulle uu.m&m@ﬂ&,gbu@m urghgnéSulen suans,
B essrepd - B) Gemurengl

©€) gmueEpewish | (D) Qamgssnu @hd

109 }eeps foot Rollers are suita_ble for compacting
y

all fine — grained material (B) all types of soils except sand

(C) sand and gravels only D) s_e'mi cohesive soils

L H&ame -2 Hall Qg HWPEHESUSDE 2-EHHTH

- (A) gwmeb‘rgg,] i 68T — SIEGT LLImmeTseT (B) wemaas gaﬁll;r' (DHD amsmg’_,g,j LDGRT CLEHESHET

(C) = wewed LHYLD FTMETESD L Hid (D) urd gewenn wer
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110. For one cubic metre of brick masonry, the number of modular bricks needed is
(A) - 400 or less
(B) 400 to 450

-,}6) 500 to 550

(D) 600 to 650

QR ST &8l B Qeruse &U_@oman Coimadgs ComealiL@n odapu Qehspaseien
. ﬁs&m@ﬁﬂé@&

(A) 400or less

(B) 400 to 450 |

(C) 500 to 550

D) 600 to 650

111. The ultimate strength\o'f cpld drawn steel .wires.
(A) increases with the increase in the diameter of bars
(B) increases with reduction in diameter of bar
\A does not depend upon the change in diameter of bar

(D) . depends onl); on the diameter of the bar

S&T BB eTo-@6 sbidler @mid auelenw,

(A)  sbGudar efll L b iflswoneme, sifsflssng)
(B) sl L Lb GopHeTD, s flESng

(C)_ | sbEdler el L b brpeimsU QUTnSS @ e

(D) swller edllLsems I [HIb QurmsgieTearg)
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112.. Match List I with List IT and select correct answer :

List I

(a) Specific heat of an aggregate

(b) Thermal conductivity of an aggregate

(¢) Thermal expansion

(d) Durability of concrete

@ ()
@y 1 3
VR
©) 1 4
D) 2 3

(©)
2

@

S R (e TS

£

List II

Breaks  the bond between
aggregate and phase

Is a measure of its heat capacity

Is affected by differences in -
thermal ~ expansion of two-
materials

Is a measure of its ébility to
conduct heat

uligwe I g ulgwe IT 2.1_ér Qurpsd eflwnearelaamws CombosHEsea

Ul gwe I

(a) emdrlyer san@euliub
(b) Srlgen QauliussLsg Smen

(¢) Geuliu ellfleurésid

(d) sHasTedyuler HlaneliLSseamenio

(a) (b)

@A) 1 3
B) 2 4
© 1 4
D) 2 3

_ (©)

= DN = N

ol ol e

(d)

43

Ul gwied 1T _

Al ® wHmb NelHE @m-L_Gu_Jqursm
G enemtlienLs 2_enL_ &g

<sgeoLw  Qeulu  Csrargpaer
jemed B wpenm .

[AbEIE) G]urr@l_'_as@ésﬁsml;@uuqrrcm
Ceuis  efifleungagdler Geumuim L med
undlasiuBdng) '
@@L Qeliu sLsg5 Snaer -
SjeTell(HD (penm
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113. The rate of air flow (Q) for ventilation can be determined using Area of inlet opening -

(A), velocity of wind (V) and co-efficient of effectiveness (K) based on direction of air.
Select the correct formula :

@A) g % & q-xav
N _KA
© Q= @), Q==

smpCor_L sdhsner smhny umnyb Cassms (Q). @ngpmrruﬁ']eb gaumpsder ugliuerey (A),
srpler fasGeusd (V) wpmb vweym searemwular gansnd (K) oduanons Csrar®

smhm  eied Hosowl Quimss Qe sadlend. sflurer ST L
CapOsHhEsa .
AV
@ Q= K B) Q=KAV
Vv KA

C =— D =

©: Q= _ P Q=
114. Surveying deals with
(A) Absolute position (B) Astronomical position
\A Relative position (D) Preliminary works

SieTH@aINI @Qde Qewe Agm_ryamLwg
Q) spsriurear si@wed b B) eunaflwasnt siewedlb
(©) @uUUCHTESS8558 e@wWeiL LD (D)  @penGenm_Lwrer Geuenaser

115.

CECVE/19

A line was measured using a 10m tape which was 20 cm too long. What is the true
length of the line whose length was measured as 5m

(A) 520m 5.01 m
(€ - 550m: D) 5m

@m 20 cm ofls Serpentw 10m  eunrflul el ewl uu.Jeiﬂu@g);ﬂ @m  Carp
SDHSUULL Sl Dige Bemd Sm 245 QHESEH. Camigen 2 areniowiner Herid eTeen?

(A) 520m (B) 50lm

(C): 5:50m D) 5m
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- 116 Anallactic lens is fitted with | I -
M external focussing telescope - '(B) “internal focussing telescope. |
(O - astronomical telescope ' (D) ordinary telescope

u@uq@pmm efflevenew @g@n_szﬁ @uW@gguuL@mm@
4)  Geuefliypuns Gelag Asmaatrrsd (B) &l_l_| MmLONE @GISI&E@LD CpranaCpréd
(C)  auneflweani QgrenawCored (D) engryem @g,rr;mu@;grra;@ '

117. In sufveying, systematie err_or occurs due to S
- faulty instrument ‘ (B) bad weather -

(C)' observer o (D) -variation in temperature -

élG‘lT&EGﬁ)SSUEﬂlUGS]GD @cmg)uuu}u_lrrsm lﬁ}ambg @g,smrrsu THURE S
“{A)  seunTen 2 LSTETD (B) é]g)ulﬁlmeurrg, curesleney _
(C) a;_su'ﬁa;rremﬂuurrmfr- o i D) r@@J!.JLJ(IﬁGﬁ'JGUUE].GU Cﬁeug)jurr@ ghuBise .

118. Shape of the earth is

W oblate spheroid . S (B) spheroid -
(C) elliptical o "~ (D) circular
LeluQlén 2 (peuld, - |
(A). Hppéss Camaraym . , B) BarGsmembd
(C) Béreul L augand- o (D) e’ eugeud-

119. G.T.S. bench mark is established by _
' Survey of India ‘ (B) State P.W.D _
) Central P;W;D "~ (D) Archaeological dept. .

G T. S il L& @g,anrrco ;F;]QJGuuuL_L_QJ )
(4)  @idunefien flo ietenay (B) ‘wrhe P.W.D |
©) wsHwPWD - S (D)  QsreQunmefwesni geon

BT o & . - CECVEN9
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120 When a member is subjected to axial tensﬂe load, the greatest normal stress is equal
- to

(A) Half the.maximum shear stress
- (B), Maximum shear stress
Twice the maximum shear stress
(D) Three times the maximum shear stress

T @@ emlunag  SIES @@aﬁ]m&a’;@ a;u@g,g,uu@u) Gung, ﬂ‘gg]&;ul_& GIErs}@g;@ ‘e_r,emaseq‘
Bedes soLTEb
Q) edsules pméss saselld Lid
- (B) - BFSULE BNISHESMEH6
©€) ofsuls BO&ES g,ema;emsuu Guimed @@ml_ra@j
D) Hsuls pnsss s@smalt GUTD pparmy L KEG -

121, A simply supported beam of span ‘I’ carries a point load ‘W’ at the centre of the
beam. The bending moment diagram will be a
(A) parabola Wi_t'h maximum ordinate at the centre of the beam
(B) parabola with maximum ordinate at one end of the beam
" M triangle beam with maximum ordinate at the centre of the beam
- (D) triangle with maximum ordinate at one end of the beam _
ey ﬁmm I QanemL. gngnyen smuduen Gue o dmer 2 SHTD igar eww Fer qm@‘ﬂuﬁlm
‘W' oeremp yemefll LEneneus Hrmiblulerens). @g@@mpm QUMETEY ;ﬁ@uu 996195 auUETUL LD
@GUGU”!DI B®mEED '
(A) -~ odlauls GHg siba &g,‘sc,]rjg,(sﬁ]m &G 2 L LigeueeTwDd _
(B) wdsule @68 26a 2 sHTsHen @ (paaniie: o LI LTeueTLD |
(©)  dsule B8 66 2 55 rsHan w506 2 L p&Gamamd
D) =dsule @5@] Si&a 2 S TS e penaudies asm_Lu QJ)&%GGSI‘I’GWTL'D-

- 122. The shear force and bending moment are zero at the free end of a cantllever if it -
- carries a :

{A) point load at the free end _
A uniformly distributed load throughout the span .
(C) uniformly varying load with maximum ordlnate at the free end
(D) couple at the free end _ -
Ophiems oSl LshHer @mmuﬁ]ab puss fens wHnd Hmiy Ses Lhuiors Gméen
erafled, e Lomengy @)eLeumm LIghHenals Shisluarens) :
(A slipnm @mmuﬁ]ei) Lemaill u@heneus srmidlujeTerg)
B - urey Bemb (ppeugib Friugey uEhened ST ETersE)
(C) &yrs wam u@ ag@mgu aéﬁ'&'u L& @55 &S .s;LQg}D @pevenudied o erengy
D) siibm panenuiléy (LPMISE elepsanus SIS L|ETETS -
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123 State of stress in plane element is shown in figure. Which one of the following
figures shown is the correct sketch of Mohr’s circle of the state of stress?

on
=2

e —

A)

UL sHe smsasaiar Howsd s Liul @eaerg. &6 Qst@ssuul (erer aumyuL s,
g Hmee Hlawasmens GNEEW sflwrer Gt el L. euerUL LD <@EWD?

:
¢

E————

L
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124. The force in the member BD is

DpkN-

60° 60°
A C

A VAN
F—2m A-2m—yf

4) 5 kN (B) 5V2 kN
(C) 10kN M 0 kN

BD erétm 2 my'n9e 2 e eflens,

lﬁkN
60° 60° X
A : (8
AT RE TR
,FE m 7}’—‘2 mﬁr
@A) 5kN (B) 52 kN
(C) 10kN - (D) O0kN

125. The modulus of Elasticity (E) and Modulus of Rigidity (C) are related by
(A) C=2EQ+p) : (B) C=3EQ-u)
(C) E=3E(1-2p) _ d E=2C(1+p)
Where u- Poisson’s ratio
Berenwd @emrsd (E) Logbgub alenmuiys @asn (C) @eueurm 2 meu®BESSUIUL(HeTerg).
Q) C=2EQ+p (B) C=3EQ-p
(C) E=3EQ1-2p) (D) E=2CA+pu)
@de u—umisnen efldlgid
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126. Point of contraflame is where

127.

128.

w Z e Z

(A) Ben'ding moment is maxi.mum . (B). Shear force is maximum
{(C) Shear force 1s zero - Bernding moment is zero
a:wm@mmrr@qﬁqﬂ TG, ———— <2.E @) HEGLD. |

(A Souy e mflau’sb (B) pmiss cilens siflsLl b

- (O  pmés dene yhHguibd D) HEoy s Lieduub

A Circular shaft of length “I” subjected to a Torgue “T”, “G” is rigidity modulus and
“J” 1s polar moment of inertia, then the total angle of twist 1s given by '

GJ Gl
16 . GJ
© = o

o T aenp Benperw el s gam®. “T" arenp pméE elmss@ @SB g |

Q" aénug Aepluns gensod whgn “‘J7 aaugy SIGU SLsFa HmUUs @mm areiilen,

Qurgs wnséas Caremd Geiaungy QsnBEsULL Hrats).

T! T
TG | GJ
©) 5 D) T

If a solid shaft is subjected to a torque T at its end such that maximum shear stress
does not exceed r, the diameter of shaft will be
’ :
a 8T ® [*I
xr T
1677 ) 16T
o [ o [
ar L ET
RO Saorio S gm@ s paania ‘T, aanp e dlassg,. pnés eles '
aw AL Bsrsaury o L uPEsTuGHng aalld, spa semmger el L meng,
_ 152
(A) 16T _ “(B) [ﬂ]
xT ZT
/3 ’ 114
© [<] - o [
nT AT
419 . CECVE/19
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129. If oy,0, and o, are principal stresses and o, is the allowable stress, the equation

' 01 +o, o, — Z (cr1 Oy + G403 +0‘30‘1)— a? belongs to which failure theory. L is the
Soom
poison’s ratio. : : _ -
Strain energy theory - '(B) Shear strain energy theory

(C) Maximum principal strain theory (D) Maximum shear stress theory
&1,0'2,0-3 A UGB WHETDLG HFMHUGT DHID T, TS JIOHEES Fatgwl gmam

. . 2 2 2 2 - z . . .
. erefied FwetuT®, o, + 0y +0; *—~(a'1 Ot 020+ oy} =0, GaILg ThS eueellpliLE
1
GEI'I'L..UI'I'L_GD')L_E FTIHES]. — Grearug,l umismen e4E510mED.
m

@ Afysgpen Cum un® - (B) pose Afusdoen G&rmurr@
(O sifsuls ngmmmg, Hifiy (Ba;m_urr@ D) ofsu’e pnsEs sosey Camun®
. . . ) ) ) . I 4 ' s
130. If E is Young’'s modulus and I is moment of inertia, then the expression EI % at
any section for a beam is equal to
w Load intensity at the section
(B)  Shear force at the section
(C) Bending moment at the section
(D) Slope at the section

@@Gmmerr E arénug) u.ua.l@swrasw wgpgm.n I arenugy sL_ggieu gﬂ@quﬁlmm erafléd &gﬁqgé]aﬂ '
a@ggjw Gm;@uu@ﬁuﬁlw EI -—--- arenm Ganenau @g@@a &u:mrr@u:

4) GQal@luEdufa u@& Q&gﬂm

B) Qaul B uEHuid g;g]&;@ cflens -
© .GQJI_@U UGS cuameTay HhHiiy Gﬂa)&
D) Qe B LigHuSen sitey

131. . In plastic analysis, the shape factor for a circular section 1s
(4), 15 - ®) 234 |
17 . . (D 16

Qpélp LJ@L'.I.LI miefab, QJI'_l_..Glilq.Gi.l Qar B uGHuild e eugamyent),
@ 15 . B 234
© 17 D) 16
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132. The theorem of three moments for the solution of continuous beams is formulated by

(A) Young _ | - (B) Maxwell
(C) Williot — Mohr v Clapeyron
Qg a@;ﬂuﬁ,ﬂgbﬁnd Sieunen apengy H(miiy eflenss Gar L@ @augrd 2 BarslULL g
A  wmi (B) GuwsevQeud
C) el - Guomt D) HeriSyen
BN

133. To avoid tension in a short column the load must be
(A) at outside of the cross section
within the middle — third of the cross — section
(C) within the one - third of the cross — section
(Dj outside the middle — third of the cross — section -

@@L wnen grasfie B flenws selliés LEhaureang Gereunn Gmés GCoramEin
A) ©nss Geulger Geuaflinmd _ :
(B) GRES Qeuigeim FH apadled @b LGS aEar

(€)  EmEE A g pd Wl GG LEHEET

D) EméE Qeulyer widu apade e LGHEES GeuallLpb

- 134. A propped cantilever of span ‘L’ is subjected to a concentrated load at mid-span. If

M, is plastic moment capacity of the beam, then the value of the collapse load will

be _
12M 6M,
A - 7 : ‘6; 7
aM, 8M,
© T _ D) 7

urey Bemb ‘L ecew e epl®n Qer@rmsuter urey fagdar w HAGL @
Qeflap’ L Lur e Ly dswau@dpg. M, aaug Hpdp ooy adens e Qubs

oflepid Ligpetlen oy
12M, | - 6M,
@ = ® =
4M, ' 8M,
©) I : D) p?
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135. A three hinged pafa_bolic arch of span ‘L.’ and central rise ‘Y.’ carries a point load W
at ‘“’m horizontally from the left hinge. The normal thrust ‘7"’ at the section under
the load if the horizontal thrust is H and vertical reaction Vis

(A) Hcosf-Vsind ~ (B) Hsind+Vcos8

' W Hceosf+Vsind (D) Hsin#-Vcoséd
e® udafl ues ‘W', pO ewiey ‘Yo', urey ferb ‘Lu’ . Aol spssn H, wppid
Qsrigse erliieflane — Vewuyn GsrarL ugauamanu swrer cuamereilar @ LiL&sSH S mbha
‘x dev ol grysder siyenefl Len ‘W’ Qewau@uefla, Qetgss siwssw ‘T’ eremug
(opeiy S GlenamTiiL| Ligeuenanul SLOTE UeneTey)
(A) Hcos@-~-Vsing (B) Hsinf+Vcost
(C) Hcos@+Vsing (D) Hsind-Vcosd

136. Effectivé length of a column fixed at one end and pinned at the other end is
A 2 : : By I

I + @ <

P penemudied 2. AL lfﬂmamumuu.qm nipeEaT S aﬂms&mumuum 2 ETET E(m gnafoﬂm

vweg Serd erenLig

@ 2 . | By !
! 1

© J2 ) 3

137. Statically indeterminate structures can be solved by
(A) Using equations of statics alone
(B) Egquation of compatibility above
(C) Ignoring all deformations and assuming the structure to be rigid
w Using the equations of statics and the necessary numbers of compatibility
equations ' :
Belleysmt enwlLssamen Ggeanned $15g efl_amrib
4) sudaow &ma‘rurr@asmm L @HILD ummu@g@
(B) @ewmsswrer FanrBsener wi.Bid LweLBéS
(C) o (mEG@DuDD WHMHD NODILITET SiMOLIL D SHIGG®ELI ums&ru@ﬁ@ '

D) swfloe whnb Garsswore swarmBsmar twaLBHES

CECVEN9 | 52 | o



138. The most important, source of water for public water supply is
@) Lakes '
(B) Ponds
W Rivers

(D) Streams

Qugys @iq Bir éﬁlﬁ@un&;gj’,@ﬁ)&nm W& pédwonen Bir g eryn

(A) gflsar
B) @emser
©) %gaw

(D) BCyrewLsar

139. . The carryover factor in a prismatic member whose far end is fixed is

(A 0
1
vo ]
3
(©) T
@ 1

om woadd 2nd Goamious Qsram g ULLS aige S@oidd ‘Urey smyef’

GTEILIG)
@A 0
1
®
3
(C)ees
@M=l
O | | 53 CECVE/19
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140. The fixed end moment of end A of the fixed beam 'shown in fig.

"L
—k

i3 i3 i3

L/
vy

. 0x
NN

0.5WL
@ =
. WL
®) =
o L

9
' 3WL
O T

Qsr(ass Quppll LSS, A @mmuﬁ@ AL efens erémug) '.

Iy

i3 - U3 13

Dy

S
NN
To7/ 7777

(A) 0.5;VL
®) %
© =
o ZE
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141.

142.

Out of the following methods used for structural analysis

Moment distribution method
Slope deflection method
Euler’s method

Method of joint

MBS N7 € =

Those include in the analysis of indeterminate structure are

\K 1and 2 - B) 1,2and3

(C) 1,2,3and 4 (D) land4
Spsar_amausafle pellajemt amwiiyseafier u@LuTLEIHE LweTLBeug

Hmuiy eflens LiFeud Wpenm

-

1

2. giley — euenaray (Lpem

3 e penm

4. Qeeriy wpen

2 pSwnm s Lewliber LGUUMeTe Sieme <L kiGLw

A4) 1womod?2 B) 1,2whmb3

© 1,2 3womw4 D) 1 womw 4

A soil has a bulk density of 22 kN/m3 and moisture content of 10%. The dry density of

soil is
(A) 18.6 kN/m3 @f 20.0 kN/m3
(C) 22.0 kN/m3 (D) 23.2 kN/m?

Qumes oigd 22 kN/m? wpmid rriugd 10% 2 6rer waareantlen 2 e LT eranuig
(A)  18.6 kN/m? (B) 20.0 kN/m?
(C) 22.0 kN/m? (D) 23.2 kN/m?
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- 143.

144.

145.

Terzaghi's basic differential‘.equation for one dimensional consolidation of clayey soil
18 ' |

% .. W om . o%
A  Eog % o8 _¢, o8
@ Zr-c,2% ® 22-C,2;

w Y73 aﬁ &u
C ¥ _c 24 ou _c
© 2 Toz. ot T3z

sefiper g uflewrms Sin’ Héaren, Quysndluien o ILmL cuanssEQs( swaun® erag

¥ Fr3 0w . O ., O'm

A Loc R By L_g 2L

. @ ot Yoz ) .( ) 8z °a1?
o’ . om o 0% . 8°%.

o ZE_p % o8 _ec o
© ot U=z D) ot v 822

The difference between maximum void rétlo and minimum void ratio of a sand is
0.30. If the relative density of this sand is 66.6% at a void ratio of 0. 40 then the void

ratm at its loosest state 18 _
@ 04 & o6
(C) 0.7 , D) 0.75

@ wandlan JHSULS LOHND GdDEsULS Riemgienar odldigrésry eigdurew 0.30 Wb,
Qar@ssiuiL pemgene fdsn 0.405@ weamdlen sy au_rr,sﬁ 66.6% Graﬂoa Qpdip
Hevaulldh) Sigen pdmgemen slifigd eranugy

A) 04 (B) 06

© 0.7 ' ‘ - M 075

Terzaghi's equation of ultimate bearing capacity for a strip footing may be used for -

square footing resting on pure clay soil with the correction factor

A 05 ' - (B? 0.8 |

€ 10 ) 1.3

FFTUIg 6 gnsm semip, saflnanaiia Hib@n Gung QL gsrduien o 55 Hae srhie Sngussrear
swaum’_eL vweuRSSID Gung, seflinaraflagen.w sALESS L srresfl adug

Q) 05 | ®) 038
© 10 | @) 1.3

CECVEN® 56 . o

i rreeieber e

I W T

P e oyEl e e W



147.

148.

146. A clay la.lye'r 4 m thick in field takes 3 years to attain 40% consolidation with.

condition of double drainage. If the same clay layer is underlain by Hard rock then
the time taken to attain 40% consolidation will be

(A) Oyears d 12 years
(C) 3years D) 6 years

B mq_ﬁlmsu_u_én 4 5 qgkp(gmm_u_: seflodn oiPssTarg 40% DQEsmD DepLw 3

au(pmser Antsaflia, 2Gs saflvean aBasdie SCp urenp @mpsred 40% Siprisme
DIOL_CUGDETE ETEV D6y

(A) 9 eumLmisar _ (B) 12 aum_rusar
(C) 3 aumLruser ' ' D) 6 eumLmrser

If C,is the coefficient of consolidation, ¢ is the time and H is the length of 'drain.age

path of one 'd.imensional consolidation of soil, then the time factor 7, is given by
2

- | r.
@& T=57 | ®) T, =75+ "°C,

© T-o | o 1.2

C, aaILg SWPEHES GITED TR, L HAQ IiaT6 CTETELWD, H—gg (B Liff emrimis Guq.esrrsﬁlé'r
o erarayld QamaRTL.md; sre SieTey sryewfl 7, cranugj

A G | B £
A Tﬁ-é;- () T"-Hzc
' 3 ’ ' : Ct
©) Tp=% D) ?1";}-;

If « is the angle b.etween‘the direction of the failure and_ major principal plane, and
¢ is the angle of shearing resistance. Then the relationship between this two is

A a=00" -2 , - B) a=90*+%

2

() rx'=45‘—% _ | J a=45’+§ ‘

ngm SHanss@nd, QU appetaio g,m‘.ejr.._ﬁgj)@l.b‘ @ml_ﬁul;L Caremrid a erameyld, HOIEEG

arelemsuleh Catamb ¢ eramayb Gararm_me, G GoamBaELd 2 drar Agm_Lnang)

@A) a=90'-§ | S ® a=9£r:+g'

© a=45"—-§ L D) a=45'-+%
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149.

150.

151.

The shear strength for a saturated clay from unconfined compression test is .
(A) twice the unconfined compression strength |
half the unconfined compression strength
(C) four times the unconfined compression strength
(D) equal to the unconfined compression strength

U.C.C. G&rrg,émwuﬁlsb wis seflbeamemilar pmsE cusllanio eramig
(A)  slLbpp aucllenwullen @m wLkiE | | |

B) sLLpp eusllanwulien enT LLAIEG

(C)  slipw eusllenullen Bmen LG -

D) sLLpp ademwnsEs swbd

70% of a soil is retained on 75-u LS. sieve. 60% of the course fraction is retained on

4.75 mm 1.S. sieve. The uniformity coefficient is 5 and the coefficient of curvature is
2. What is the soil designation accordingly to IS classification?

(A) SP (Partly graded sand)

(B) SW (Well graded sand)

(C) . GP (Partly graded gravel)

) GW (Well graded gravel)

wekrerfian 70% whpyd 60% 1.S. sl 75- 4 whpw 4.75 mm s Paaid srEHns.
Cugub EMAsp wHmb euenaray@awp 5 wbmib 2 eare b Q&;rrsmt..rra) LS. ausmasliu@®sgigeiy,
LDGRTERTTEVES)

(A) SP (@eandlu giser eflyeudh 2 enLwt wesmred)
(B) SW (peannns giaer eflyeued, 2 anLui LoarTe)

- (C) GP (manblw guser eflgeud 2 e FTenaTSsHe)

D) GW (penprs gisarefroud 2 @ sjaaTéEed)

A soil has liguad Iimit of 70% plastlc hmlt of 30% and it has a natural moisture
content of 50%. The liquidity index of a soil is .

(A) ® 1

\@(05 | D 2

oaimanfen 8o ewmby 70%. @epw bl 30% wHmb Qubens Srarey 50% ér’shgjeurrgji
B mbsre wearentlen Gioflene &1 CQ_awr eresiigy

4 15 B) 1

©) 05 ®) 2
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'152 The given figure relates to desxgn features of samplers affecting soil dnsturbance The
area ratio of the soil sample is given by

& -

—

D

Dl'

-
=8
-

D2_D2 ' . _ J‘Dz‘_pil .

b}
B D2 -D? : . ' D? - p?
. D | . Dt

QSW@&EQQUL{)D‘LJ@@@@ waw wrdf Casfuns as@eﬁluglarr urOy eNélgh g

|( D; N
- 2
Ds
D
D 1
2_n2 - __‘ : Dx_- 2
A) DzD_zDs _ _ ®) “"’D—fl
- 2 ) 1
w DI-D: ' D:_D?
©) o =
D? D}
o o | 59° S ~ CECVEN9
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153. When two sounds are 1n the ratio of 10 : 1, the sounds are sa1d to differ by 10 dB and
if they are inthe ratio of 1000 : 1, the sounds differ by

(A) 100dB @ 3004B
(C) 500dB ' - . (D) 10004dB

10 : 1 erémp SflzgHer o aven @ gellaer 10 QLfud saralld (‘Sccn.lggn_l|'_|_rr2;i1T 1000 : 1 ereémp
' eildlzgl Q@HEM. GG gdlaaien sigdures aang |
(o) 100dB | (B) 300dB
(0 500dB D) 1000 dB

154. The type of sewaragé system which is most suited in areas having small rainfall,
crowded area, and also area having less sewage

M combined system

(B) separate system

(C) partially separate system

(D) both separate and partially separate system

QpmésonaT LGS, GOPhS LOPLETe] LHMD Geonipd &fey Bi ammL&.eﬁ]u_l LEHES
GQurmssorer sflebi sLggib sl pop .

A) QeenssiulL (peoon

®) selLILIL L @és)g) |

€ ung “Q’)G-OHL.JLJI'_I_ WP

D) saflvulL whmb und 5suﬂf_:|_u.'._i_ WPDDHET

155. This appurtenant is used to overcome obstruction in sewerhnes due to road, canal

and railway hines. \
(A) Gulh_es \( Inverted siphon
(C) Storm Water relief works - - (D) lampholes

augGomi enflllenr GmaCsa snenawaet wHmb @rule uremgad Gurenp g,ml_a;en @@‘njgrrw
Sieng Reueuryy &M Qeaiwmb

(A) Q. HTED (B)  swasp anq@pml
(C) wenp e Bmasrar S b (D) aﬁlmés@ggjm'mésﬁ
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156. As per W.H.O standards, the permissible limits of chlorides in drinking water
(A) 100 mg/l - G 200 mgn
(C) 300 mg/l (D) 400 mg/

2 @& &&TSHN Sewlfer Ly Gl saraile sigwdssiiulL GGarmany([ ereamLig)

(A) 100 mg/l (B) 200 mg/l
(C) 300 mg/l (D) 400 mg/l

157. The diffusional mechanism predominates when the particle diameters are
(A) between 0.2 ym and 0.5 x4 m
B) >05pum
< 0.2 um
M >02um

gisaflen Sl L iere) @eieurnrs @ @mEEn Curg Lrald Sarend o WTEng) .
A 02um-05um

B) >0.5zm
(C) <0.2 um
B >02 um

158. The minimum diameter of manhole opening is
(A) 30cm (B) 40 cm
50 ecm: = : _ (D) 60 cm

sfle) Brs@wmi curlihyenpuller GaphHasUL s Sl L b
(A) 30 Qs.5 (B) 40 Qe..5
(C) 50@s.15 (D) 60 Q@e.15
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'159. Design load is equal to

(A) characteristic load x partial factor of safety for x_nateria]é (r.)

‘M characteristic load x partial factor of safety for load (r;)

©) characteristic load
T

di

®)

characteristic load
€Uy CUERLDLIL| LI(ET5 eTerUg) @mgbﬁlgh@& W
(A)  epeligs x Qun@Eenéster urgsray GepuL sagesil (7,)

(B) peolLEs X UigsassTar URFETIY Seopy smyet ()

I(C) - apeoLiLiTs
rm
®) 1
QpoLLEH

160. In the design of columns, the diameter of longitudinal reinforcement shall

d not be less than 12 mm
(B) Dbe less than 16 mm
(C) Dbe m_c;re than 20 mm
D) not bé less. than 10 mm
@ sesfiar augauen i, ;fjehmrré@ sbsaflen el 1b eremugy
A) 12.8.8-55 GOPUTS G(MHES sar 15 - |

(B 16 18.8-6@ @epans Qmés CeuamBb
- (©) 20 0.8-4@ Cuoons Q@nss CaanBu

(D) 10 B.18-65 Gepeuns B(BEs saLng
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161. For interior stiffeners, the effective width of web acfing together with the stiffener in

each side of the centre line of stiffener is taken as
(_A) 10 times the web thickness .- - B 15 times the web thickness
d 20 times the web thickhes_s _ " (D) 25 times the web thickness

215 eflewplurdarsaficd, GDLD!.LI&@G!TI_H].GFI pa@anm usssdland Gﬁ'lﬂ)g)uurrcmrr@ QAsweouiphd

ﬁlmamggasr_tq.m LW SIEOD GTeug | |
(A) 10 Oeemsssiisen SuoaTeTay B) 15 Imamgge et gq.wwmsq_,

(C) 20 OeremmgssL 1q6 SHigloamTanay (D) 25 9amems5s 19 @ Slg lperTera]

162. The most efficient steel section for a beam is
(A) Channel section () Rectangular section
(C) Angle section _ d I sectlon

@@u')q _Q‘ih'_l'_réla@é;@Lb SEagn Qurr@é’,g,mfrm GENEE Ceu (@ eulg e
(A)  eurissmod Qami@ euigeId B) - Qscvers Qaul_ @ auigauid-

(C) Carasr Qeul_(B Guig.6uLD (M IQ@:L@ U GULD

163. Avparlinisa roqf ‘beam, usually supported by
(A) Lintels - (B) Joist
(C) Girt - o Roof trusses

Qurgieuns 2 S8reflCLsHlan GG s L1b Gsamne srasiuGAng

(A)  ménared CogisHrib . " B) esHmb
(C). Qg ' D) =s5fgscan
o S 63 CECVE/19
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164. If the tendon is placed at an eccentnmty 'e' below the centroidal axis along the
longitudinal axis of a rectangular beam (sectional modulus Z and stressed load P in
' tendon) the stress at the extreme top edge o >

(A)  is increased by Pz - (B) is incretiséd by Pe
: e . : z

J 15 decreased by Pe (D) remains unchanged
z .

eflevss  uEs P, LDEIQlLb.g,GﬁTéD)LD Z-owé QareRr Cesucus aﬁ]f_gfs,ﬁebf eowd GCerl Bl
yereflllelmbgl ‘e’ eflavssgdled pp aut-1b Qrs@wGung G LssgEd 2 dTar G}S]Gm& GreuTugj

(&) &— B0 aﬁstﬂa&uu@@mg} - By £e—-« 4, a@&ﬁl&auu@ﬂm@

©) %— & GapssuLBADs D) wrpmwe GEHEEw

I165. If the loading on a pre stressed recfangular beam is uniformly distributed, and
.supported at either ends, the tendon to be provided should be

(A). straight below centroidal axis
d 'parabolic with convexity downward
(C) parabolic with convexity upward
- (D) étraight above centroidal axis |
QA yeasdgb smidou 2oy, Gsius aga dos Cuppluie i sds, &y
Lipeflu Ly Qewdu@blung; sifléd QuagssiiuL e érer auLtb eenugl
(A) v Dss8@ EC0 Crrre Qmés Cauamb
(B) &pCrrés el Luraumanuinns Bmés GouamHib
(C) Cuwe Crrég @l upeuamenwiwrs Qaés CauskrBib
D) oW BFsES Coors Crons §HéEs Caudm@dib

. 166. Units of kinematic viscosity are

m?/sec (B) - m/sec
(C) Newton sec/m? , ' (D) Newton sec/m3
@wng ung, Hevarullen BaG Granug:
(A) ~m?2/sec ' (B) m/sec

(C) Newton sec/m?2 _ (D) Newton sec/m3
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167.

"168.

169,

The sheet of water flowing through a notch or weir i_s known as

(A)  Crest notch . . Nappe

(C) Crest I (D) Crested Weir
& Gleu_{ éugjl(%m (éiéu) gs@_dq@;ﬂ@u_l Qadgud B e GII'IGBTUQJ_
Q&) 250a @ B) Qan @ 5
© o5 D) esfskoy

Rotameter is a device used for measuring
-A d_iéché;fge through pipes
(B) . discharge fﬁrou‘gh open channel
(C) discharge through notch -
(D). discharge through weir

ésggc'o LOFeH GTaprLIg)

(&) Gpmi eu QCw G]méﬂ@u.zgul.b By ienés a_g,meﬁ,mgj

B) SHomswmissmed Gu@(ﬁu_: QeuafiCuwimib fimu Sl ag,sqé]g)g,;' '
O QaulpafCu QeualiGumb S cv;ierf&es o_gedimg)
D)  seUy afCu QasedCupid Sar Sierés 2 sadng

Air vessel is used in a rec1pr0cat1ng pump to obtain
(A) reduction of suction head

(BY rise in delivery head %

' (C) . increase in supply of water

~ continuous supply of water at uniform rate

@Gﬁr@m SlsiggyLb @m@'@ﬁ: uble srhms @hae erarug) Geundlbe vwemBfng

A 2fghE 2 wtmeus Gonss

B) OGeaelssengs 2 wiwe afsfas
©) freursems afsfss
(D) &yrer Qi GGl LS para
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170. : is a long bent pipe which is used to carry water from a reservoir
at a higher elevation to another reservon' at a lower elevation

Siphon (B) Channel
(C) Simple pipe : (D) ‘Compound pipe

o wirones seaullelmhs STDeTern amm&s@ f,mrjas Gesrrsm@ AL ﬁerru:rran Gusmmsq

Gl @euaimepssiLBRng)
(A) eug@pmi - B) eumlssme
(C) engnyew @oml - (D) e_sher SHuw ST

171. In open channels, gradually varied flow is caused

(A} When the pressure forces and the change of momentum are different from each
other

(B) When the channel slope is equal to the normal slope
(C) When there is an equilibrium between the forces causing the flow and those

opposing it.
‘M When the force causing the flow is not equal to the resistance force.

@0 eumiigamedler FTma IHILLL LIM6) qremg, 855 Hleve gpuGDBCLTE B-s8ps
A)  SiWss Nepsb, & 55 mrr,r_i),rj)(galb wryuhibGuns '

B) eamissTd Efrultme @bdﬁq Fmia|b SrGh Gug)

(C) umbey elllensuyld Hﬁﬁsﬂ@&um soflaauied alﬁ‘.lTG‘ITGI_HTQJ

D) umie) Aeswyb adielmayp sofomiia GoarsCLrs

172. In order to compute surface’ runoﬁ‘ graph which ﬂow should be subtracted from the :

runoff graph : _ :
a) Stream flow M Base flow

(C) Subsurface flow (D) Direct _precipii_;ation
@0 B evernmuL SHS(BHE Qwss aaleﬁlgg,né senT el @@ B uerrLL g SaaTEElL b

@A) BCymlLb _ ' - (B) @wglueL gliib
(O smpserglp - D) Goig Gumfley
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173. The Kutter's formula is denoted as

r 1, 0.00155 0.00155 n -
: ;+ 23 + S _ 1+|23+—— s 7B
~5 VR (28—
_ le.fasuz _ 1+(23+0.00155 _n_]
© ve—" B O V- I
0.00155 n - | T 2re cum
GLLiT FueTun() eTEmnLIZ|
1+[23 N 0.008155J a +[23 ooglss%J |
@ v JBS ® V- 75
1+(23 0.00155 n] : l+(23 0 ]
"5 VR —+| 4
L gusgue ' 1 (23+0.00155 _f;)
©) v= n VRS (D) V-= s JR/|/ms
1+[23+0.001557"‘_'J le.*s Sif2
8 R - n

'174. Inthe analys1s of sediment transport the soil is assumed as
(4) Coherent . . Incoherent

(C) Cohesive ' | (D) Medium texture -

SUERTL &) LoaiT SLSH6 LgL1LImieiled, wer ﬁ&ug Peaanpnas aBEgs GerareriiuBGEng

8 9.6 Qurssons - (B) @L0Cuwrgs Lo,ri)gp;érra
€) QYQeariuns D) mRssTONS |

o 67

CECVE/N9
[Turn over



175. If the depth of ﬂow, velocity of ﬂow ‘slope of the bed of channel and cross section do
not remain constant, the flow is called SR

(A) Uniform flow - (B) Steady flow
(C) Unsteady flow ~ Non-uniform flow

ECrmlLgHen b, Geusbd, emissre smie) wpHpd GNES Gaul® uriy ydwena
wrHwrs Zmbsre, ks ECrm L aeng)

A) é&rglLn - _ (B) siv@qmrrm@f_L_Lb (ﬁmWMWw)

©) vfywpp gL (feoudp) (D) Sypp el

176. Reynolds number greater than 2000 the flow in channels is
(A) Uniform : (B) Non-uniform
(C) Laminar . d Turbulent

Gremd_ ereir 2000 g el cumisssmed QUL siflsonennes @eheuny SenssiLGSDg
@A) Sy g . ®) E5pp gl
€) s5pCurém @LLb : D) guasiy glLb

177. What is the most frequently used ;Flood Control Measures™

(A) Reservoirs - . (B) Diversions

() Channel improvements Levees

2188 serefiles LWL ‘Geudtar s Hua B apern’
B soass G B) wmpgand
©) mrrull‘;isasnd) Guwur® (D) seuys Feuit : '
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' _. 178. The centre of buoyancy is

- 179.

180.

(A) Point of intersection of the buoyant force and the centreline of the body
(B) Point of intersection of the buoyant force and the gravitational force
(C) _ Centre of gravity of the body |

M Centre of the displaced fiuid volume

Wlgeneu enLpwLD eTaiTLIg)

(A) Bgeneu ellengu e Qungeian ewws Can® Qaul G yerefl
(B) geneu aﬁlmauLéT. qeﬁlnw‘rﬂq eflens Geul P Yeedl

(C) GQummefar yellFTuy enwwnd

D) gememouL Bir Siamedlel entownd

In which pari:' of fndia, canal automation system is practiced?

(A) . Tamilnadu - "~ (B) Uttarpradesh

M ‘Gujarat ‘(D) Andrapradesh

Bpdurelidr G srdaumb guBGapen WaudnLLBGEHDE
QA sOpprE B) 257 G9Ggs0
© egs | D) by HCsei

According to Khosla's theory, the-exit gradient is given by

@ L. | ® 21
© Z.i B
Gareerr Gam’ Lmigerug GeaueflGuhm smiie) eremig)
@ 2. ® 7
© 2oz ® G
o  CECVENS
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181. The time required by fast moving vehicle with acceleration of 1 m/sec?; to overtake
slow moving vehicle with spacing 25 m is

(A) 20 seconds | © (B) _ 15 seconds

(C) 18 seconds 10 seconds

25 8 @ert Qauafif® eaipg Qsogid arsagas 1 B/el wREssHe Qsdgid HHCus
aunaeibd (phs GCoemeuwimen s BTy '

(4) 20 Nemgaser (B) 15 eflenmig seir

(©) 18 femgsar = (D) 10 Aenmg.ser

182. The outer edgé of highway with carriage way of 7 m and super elevation rate
0.05 needs to be raised (w.r.t. centre line) by

(4) 0275m R 0.175m

() 050m : D) 0.75m

Ssow 7 B womd Bes 2wiey 0.05 seaw g ABQEETMmvamL, IOLECHTL L)
Gumms g gen Gevaflallefibens —— eme) 2 WTEF CouadmBibd

(A 02758 - (B) 01758

€ 0508 @) 0758

183. Spot test is used to detect
(A) Impurity in bitumen
(B) , Cohesion in bitumen
Cr_acked bitumen

(D)  Softening point of bitumen

G’ GCengenen eTenLIg)

Q) - QuGrreilw &5 Quinyefien sipsens sTHUES

(B) Qui Crrellw 5@ Qummetlen gl { semeninenws seaTHi9qba
(C) QGaugliy 2 e men Gu Crredlw 5&@_@uﬁ@6§)d‘l STy &5
(D) GQuiCrasilu @ Qummaflsn 2 HELD Dteavency EeorB)i9y.&s

'CECVEN9 | ‘ 70 o



184. When the driver does not obey signal, in which system there are arrangements to
display stop signals automatically in advance and also to bring the tram to a stop"

(A) Absolute Block (B) Automatic Block

v Centralized Traffic Control () Automatic Train Control
Qgm_it euswrgenws Hmssand penenGy Hpss sllsamsaw  CQsfictls@nd Hawudd
2 arerGung, @65 ul_L erevansuuiled gl (Ren sllGengenw 1enLinm Ceuanrg i euflwididreney
(A)  @l.L aoema ' . (B) sraflumbd eul.C eréemen

- (©) pefew Cursgaursg é;L@Durr@ D) sreflwmd Qgmireuerng s_HULTH

185. The construction and maintenance of airports in India is looked after by
A Airport Authority of India (B) Ministry of Civil Aviation
(C) ' Indian Air force D) National Airports Authority

BiHwrellch) eflwrer Hleneow &L @rend wpmpb ugmofiuy, Geuppre GuplsndrerluBapg)
A @ifw ddurer feoawu eemarnus  (B) Hefld ewreniCLrs@arss Sienissd
© @pdHw edwreniven D) Csdlw efwner flane g emerTwD

186.. For a constant value of co-efficient of lateral friction, the value of required super
elevation increases with

(A) Increase in both speed and radius of curve
(B) Decrease in both speed and radius of curve
Increase in speed and with decrease in radius of curve
(D} Decrease in speed and with increase in radius of curve
ussaum_(l ermiey Garsw @ wmoms wHoLrs Gméesd Gurg, LrSlmas 2 wITeUTeNg)
Spaam_cuppL e sifswordpng
(A) Geusd wpmib suemarsy T SiFsAsEE0 Cung
B) - Gasw WHDID cueneTay I Getd Guirgy
(C) Causb sfsflEEb CUrgIb euenarey b @mmu_;LB Guimgitb
D) - Geusid @eopuyd Gurgid eueerey &iTb SiF&ENEEGD Gu rrg]fn
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187. The Los Angeles abrasion value of a good aggregate for a bltummous mix for a high

quahty surface 1s o

(a) 15% \6 30%

(C) 50% _ D) 75%

Gp«ﬁgmgm FIEHRGET &L@mn@g@m@ LeTURD s Haatier emev s;'@j&a)am) Gguinmar
walureng _

(A)  15% ' (B) 30%

(C 50% | @) 75%

188. In rail joints, continuity of rails are maintained by
~(A) _ Bolts | (B) Spikes
Fish plates - (D) Fish bolts

@rudeé @mmul.ia;srﬂé). Qmnie AgrL s creugl @ gemmed uunmﬂ&&ﬁu@ﬂmé?
(A) BL@seT . (B) aemerayenfl '
(C) Beargafser - - (D) \Ser pL.aer

189. Which of the fo}lowmg is the critical combination-of stresses for interior and edge
. region in cement concrete pavement during summer mid day .

where

Ls = wheelload stress .

Ws = warping stress {or) temperature warping stress

Fs = frictional stress (or) sub grade resistant stress

(A) Ls-Ws+Fs : B) Ls+Ws+Fs
Ls+Ws-Fs D) Ls-Ws-Fs

CarerL a;rrsvgﬁeu A 1q sHSTEY gmrma;aﬂm 26T LD;DQ}LD eriugHaeiic ﬁ\a@m (SLorr&Lorra'r
snaa) Garlin eremig :

Ls = s&aygmsa :

Ws = Qauln SDER '(awm@) Qauiuflene LLSEGH® D(PSSLD
Fs = 2ogmie sanse (Di0eg) Hieest 55 aHifly SpSH0D
(A) Ls-Ws+Fs . _ B) Ls+Ws+Fs
(C) Ls+Ws-Fs ' : (D) Ls-Ws-Fs
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190. The revised estimate will be prepared when the original estimate is likely to exceed

" more than ‘ _ _ : :
A 5% ) \(10% )

(C) 10.5% ; o ™ 11%

apae s wdUSE Aws e sfafagn Cuig wy wAGSE gm&ﬂ&auu@ﬁm@ |
@ 5% - ®) 10% | -
© 10.5% - ®) 11%

191. The .technique of ﬁhding. the.-fair price of an existing building or a property is known
~ as _ ' ' '
(A) . Estimation - (B) Pricing

/ Valuation . (D) Costing

* . &( G]&rrgg (=160) .ail'_lq..l_sﬁlﬁfﬁ SIL&8 cllencoen s .5;rr@||.b e
A)  wdSH . B) fow
© g - D) Gpres

192. Cap'taiized value of a property is given by
1) Net annual ren't'_x year’s purchase

(B) Netannual rent x sinking fund

(C)  Gross annual rent x year's purchase

(D) Gross annual rent x 2 - _ o 3

TG Q&rr.ésﬂeﬁ G]Lnrrégs mgu;’m@. .

A)  Hsrame awr_ms X aumL Qsnepsd

(B) - ey éJ@L aun_es X Gafigs Gg.rrm&

©) QungsaumL em_ems X aipL Asapsd
D) GumsapLamesx2
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-193. Floor area ratio and plot coverage will helps to determine
- (A) Actual cost of the Building
ﬁ Approxlmate cost of the Bu11d1ng

() Admm_l_stratwe approval cost

(D)  Security deposit amount

' r.!_asla;rr LigliL efdgLd mﬁ;gﬁb urUY © GTerL &5 @mg')mg) a;;seﬁrésélL LSt (I,
(8) sl s el ' |
(B) &l gden Cumgmu edenen
(Cy MHreurs ﬁél wimen adleney
(D-) .ur@arrﬂq apeuent Lgnens

194. A plan to suitable scale generally attached with road and brldge project is. known as’

(A) - Slte plan’ K (B) Topo plan
w Index plan L (D) Structure plan .

EMane LHHILD LITadLD H_PwiegHnE aiphstu@b IR amTuLb Grs'ufugj
&) uEH eeuLb (B feamrulbd
C) o éen &8 cuamyuLid ' (D) sLOWIRT euanLILLD

195. The unit of measurement in MKS for steel works using Rolled steel ]01sts
). Quintal - (B) Kilogram
) Cum S ] (D) Sq.m

MKS gpanpuies @midit Opm_iurar Caimass@psane siag,
Q)  @elammd : By H8
€) sear Sl h : - D) smg BCL it
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196. If the Latest occurence time for event J =T/, the earliest occurence time for event

-+

i =T} and the duration of activity = ¢/, what is the total float for activity Fy ?
@A) L= Tg‘ —¢¥

\é Ti-Ti -9
©) V-7i-7}

@) T T

venfl Aapsre ety J =T/, wpamef s <aey i=T; wHpb uamissre erey = ¢
crafler uanflssmar QTgs oieTey F-‘;'! GTeTLIG)

@A) T-Tj-¢i

@) 7/-T. -

©) {-Ti-T)

@) T T

197. The standard deviation of the time of Completion of an activity is given by

e @&t

S _ 1
©) ‘*’,;“’ | \6 ‘”;"’

uenflsame erellen S eSev&asLb GrenLIg)

A B =

(e ; D) =
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198. Match List I with List IT and select correct answer.

(@)
(b)
(©
(d)

(A)
B)
(©)

V.

List I

Optimal Cost

Overhead Cost

Direct Cost

Indirect Cost

(a)

B s N

List IT
1. Activity Related
. 2 Developed by crashing process
3. Project Related

4. Contained in or contributing exclusively to the
related product.

- W W e

uligwe I g utigwe I o Ldr Qurmsd sfluner el amws CsibOsH&seD :

(a)
(b)
(©)
@

A)
B)
©)

- (D)

CECVE/19

uCguwien I

sflwrer Qsrens

wn Qgrens

Cryg Csrens
wepps Agnans
@ . O (©
4 3 2
2 1 4
4 L 2
2 3 4

uligwed IT
1. uenf ALyt wg)
2. 2aLuured Cubu@BssiulLg)
3. L Qsnfiyenwig)

4. Qummer GariyeLwg. (oeg) COgmiyeLw
swriliyée WrsdCusions ukiselliy Qelidpg)

(d)

~ W W

76 | o



199.

200.

Which of the following is not related to the cost slope : '
(A) Crash Cost {(B) Normal Cost
(C) Crash time @ Slack

Qgrengé sMGeun(h Bg sm_iGloenssg,.
(A) eeLlyQsras ' B) Quday Lsras
(C) eeocluystebd (D) QCenipgeneu

Consider the following statements regarding the slope of Cost-time curve.

1. It is given by differerence between normal cost and crash cost divided by crash
time. )

2. It is given by difference between crash cost and normal cost divided by

difference between crash time and normal time.
3. It is given by difference of crash cost and normal cost divided by normal time.
4, It is given by crash cost divided by crash time.

Which of these statements are/is correct?

(A) lonly : M 2 only

(C) 2and3 | - (D) 3and4

Qgreng gfla-sne aueneTey—2 L e @g] ng.qul_u_lg;

1. @Quey CaressEh 2y Cgrass@n 2 e eﬁlgﬁun&‘ga}g; &Gm_uq G]g,rrmasu_ma)
eu@aEGL Gurg den_Liug,. '

2. eserly Ggres—Queay Ogres odsdunsses gml_t'_u_]asrrsu_l_b—@u_:ei}q &TQULD
HgHwunessred au@sEd Gung HaLuug).

3. eeLuy Ogres-@uey Glgrrm BsHunsses @u.:coq Gorssmed eu@ES@EHLGUNg

e LLg)

4. e enlUy Qgrrmasmu_l L LU STQESMED m@s@m Gurg élem.uu@

arﬂmrrarr euN&Sl u.[g,emg, Ggrrg,@g@
(Ad) 1 wiE ®) 2w b

©) 2uvppw3 (D) 3whmnd

7 _ '~ CECVE/19
' [Turn over



SPACE FOR ROUGH WORK

CECVE/19 78



SPACE FOR ROUGH WORK

79 CECVE/19
' [Turn over



Question Booklet Code : (.. . Register

L]

Number

2019

CIVIL ENGINEERING
(Degree Standard)

Time Allowed : 3 Hours] [Maximum Marks : 300
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requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.
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